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Model Test 5 (General Tamil) - TNPSC Group 2 (A)
1. “milnkhopaha; Fwpg;Gg; nghUspy; tUtJ? 

A) ,ul;ilf;fpstp 

B) mLf;Fj;njhlh; 

C) ,ilr;nrhw;nwhlh; 

D) chpr;nrhy; njhlh; 

2. nghUj;Jf 

 1) eak; - rphpj;jy; 

 2) eFjy; - fbe;Jnfhs;sy; 

3) ,bj;jy;  - ,d;gk; 

 4) ,Lf;fz; - Jd;gk; 

A) 4 1 3 2   B) 1 3 2 4 

C) 3 1 4 2  D) 3 1 2 4 

3. jpUf;Fwis ,yj;jpdpy; nkhop ngah;j;jth;? 

A) thzpjhrd;  B) tPukhKdpth; 

C) [p.A.Nghg;  D) ghujpahh; 

4. Fzq;Fb k];jhd; rhfpG gw;wpa $w;Wfspy; 

rhpahdJ? 

1) ,thpd; ,aw;ngah; mg;Jy; fhjh; 

kiuf;fhah; vd;gjhFk; 

2) “khjtQ;Nrh; NkNyhh; tOj;Jk;” vd;W 

Gyth; ngUkf;fshy; miof;fg;gl;lth; 

3) guhguf;fz;zp> vf;fhyf;fz;zp> 

kNzhz;kzpaf; fz;zp> ee;jPRtuf;fz;zp 

Kjypa fz;zpfis ,th; ghbAs;shh; 

4) “jilcz;L vd ciug;ghh; jkpOyfpy; 

,y;iy” vd;gJ ,tUila Gfo;ngw;w 

fPh;j;jp 

A) 1 2 kl;Lk; rhp   B) 2 3 4 rhp 

C) 1 2 3; rhp  D)1 2 3 4 rhp 

5. nghUj;Jf 

 1) Fwpy;           - ,uz;L khj;jpiu 

 2) neby;           - miu khj;jpiu 

3) nka;   - xU khj;jpiu   

A) 3 2 1    B) 1 2 3 

C) 3 1 2   D) 2 1 3 

6. Fw;wpaYfuk; vj;jid tifg;gLk;? 

A) 4 B) 5  C) 6  <) 7 

7. Fw;wpaypfuk; gw;wpa $w;Wfspy; rhpahdit 

vit? 

A) Fw;wpaypfuj;jpy; tUk; ,fuk; jd; XU 

khj;jpiuapypUe;J miu khj;jpiu msT 

Fiwe;J xypf;Fk; 

B) ehF + ahJ> tPL + ahJ> tz;L + ahJ 

vd;gd Fw;wpaypfuj;jpy; rpy 

vLj;Jf;fhl;Lfs; 

C) Nfz;kpah> nrz;kpah Mfpatw;wpy; tUk; 

kpah vd;Dk; mirr;nrhy;ypy; cs;s 

,fuKk; jd; khj;jpiuapy; Fiwe;J 

xypf;Fk; 

D) midj;Jk; rhp  

8. fPo;f;fz;ltw;wpy; ghujpjhrdhy; ghlg;glhj 

ghly; vJ? 

A) jkpOf;F mKnjd;W Ngh;> me;j jkpo; 

,d;gj; jopo; 

B) ,Ul;liwapy; cs;sjlh cyfk;! 
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C) GjpaNjhh; cyF nra;Nthk; nfl;l 

NghhpLk; cyfj;ij NtNuhL rha;Nghk; 

D) rigfspNy jkpo; vOe;J Koq;f 

Ntz;Lk; 

9. G+jQ;Nre;jdhh; ve;j fhyj;ij Nrh;e;jth;? 

A) 2k; Ehw;whz;L B) 5k; Ehw;whz;L 

C) 11k; Ehw;whz;L D) 12k; Ehw;whz;L 

10. fw;wth;f;F kl;LNk nghUs; tpsq;ff; 

$badtha; mikAk; nrhw;fs;? 

A) ,aw;nrhy;  B) jphpnrhy; 

C) jpirr;nrhy;  D) tlnrhy;  

11. nghUj;Jf 

 1) Bulletin - jiyaq;fk; 

 2) Dead line - ngha;r;nra;jp 

3) Editorial  -rpwg;Gr;nra;jp,jo; 

4) Fake News  - Fwpj;jfhyk; 

A) 4 1 3 2   B) 3 1 4 2 

C) 1 4 3 2  D)  3 4 1 2 

12. GfNoe;jpg;Gyth; gw;wpa $w;Wfspy; 

rhpahdJ? 

1) ,th; njhz;il ehl;bd; nghd; tpise;j 

fsj;Jhhpy; gpwe;jhh; 

2) ,th; Kjy; FNyhj;Jq;fdpd; mitg; 

Gytuhf jpfo;e;jhh; 

3) ,tiu Mjhpj;j ts;sy; re;jpud; Rth;f;fp 

4) fp.gp. 12k; Ehw;whz;L fk;gUk; 

xl;lf;$j;jUk; ,th; fhyj;jth; 

A) 1 2 3 rhp  B) 1 2 4 rhp 

C) 1 3 4 rhp  D) 1 2 3 4 rhp 

13. tpiuT> ntFsp> ctif> mr;rk;> mtyk;> 

Mfpa nghUs; fhuzkhf tUtJ? 

A) mLf;Fj;njhlh; B) ,ul;ilf;fpstp 

C) chpr;nrhy; njhlh; D),ilr;nrhw;nwhlh; 

14. nghUj;Jf 

 1) fhrpdp - ehzp 

 2) Ejy; - epyk; 

3) tyNte;J - new;wp 

4) nts;fp  - ntw;wpNte;jd; 

A) 1 2 3 4   B) 3 4 2 1 

C) 4 2 3 1  D)  2 3 4 1 

15. nghUj;Jf 

 1) fpsp           - KDF 

 2) Nfhop          - nfhf;fhpf;Fk; 

3) Gwh  - $Tk; 

4) Fapy;  - nfhQ;Rk; 

A) 1 2 4 3   B) 4 2 1 3 

C) 4 1 2 3  D)  2 4 1 3 

16. gphpj;J vOJf 

jha;ikad; gpwid 

A) jha; + jikad; + jid 

B) jha;ik  + md;gpd;  + jid 

C) jha;  + mikad; + gpwid 

D) jha;ik  + md;G + gpwid 

17. NtYehr;rpahh; gw;wpa $w;Wfspy; 

rhpahdit? 

1) ,th; uhkehjGuj;ij Mz;l nry;yKj;J 

NrJgjp- rf;fe;jp Kj;;jk;khs; ,izaUf;F 

kfshf fp.gp.1730y; gpwe;jhh; 

2) ,thpd; fzth; rptfq;if kd;dh; 

Kj;JtLfehjh; Mthh; 

3) 1772y; Kj;JtLfehjh; Mq;fpNyauhy; 

nfhy;yg;gl;lhh; 

4) 1785 y; kUJ rNfhjuh;fSld; Nrh;e;J 

rptfq;ifia ,th; kPl;lhh; 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 1 2 4 rhp  D) 1 2 3 4 rhp 

18. nghUj;Jf 

1) ML      - njhOtk; 

 2) Fjpiu - gl;b 

3) ahid      - nfhl;by; 

4) khL      - $lk; 
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A) 3 1 2 4  B) 3 4 1 2 

C) 3 2 4 1  D)  2 3 4 1 

19. “fd;dy; nghUs; jUk; jkpNo eP Xh; G+f;fhL: 
ehNdhh; Jk;gp!” 

- vd;W jkpopd; kPJ fhjy; nfhz;L ghba 
ftpQh; 

A) ghujpahh;   

B) Rg;Guj;jpdk; 

C) nt. ,uhkypq;fk; gps;is 

D) Rujh 

20. vs;sW rpwg;gpd; ,ikath; tpag;gg; 

Gs;SW Gd;fz; jPh;j;Njhd; md;wpAk;……. 
-,t;thpfs; ,lk; ngWk; Ehy; 

A) rpyg;gjpfhuk;  B) kzpNkfiy 

C) fk;guhkhazk; D) tpy;ypghujk; 

21. „$lypy; Ma;e;j xz;jPe; jkpopd;‟ vdj; 
jkpo;nkhopiag; Nghw;Wk; Ehy; 

A) rpyg;gjpfhuk;  B) GwehDhW 

C) ghpghly;  D) jpUthrfk; 

22. „kd;dDf;Fj; jd;Njr ky;yhw; rpwg;gpy;iy 

fw;Nwhh;f;Fr; nrd;wtpl nky;yhQ; rpwg;G‟ 
- ,g;ghlybfis ,aw;wpa Gyth; 

A) jpUts;Sth;  B) xsitahh; 

C) gl;bdj;jhh;  D) fhsNkfg;Gyth; 

23. xspg;glk; vLf;Fk; Kiw fz;Lgpbf;fg;gl;l 
Mz;L 

A) 1830   B) 1840 

C) 1850   D) 1820 

24. “te;jJ ahUf;Fk; njhpahJ – eP 
tho;e;jij cyfk; mwpahJ – “ 
,t;tbfs; ,lk; ngWk; ghliyg; ghbath; 

A) Kj;Jf;Fkhh;  B) fgpyd; 

C) jhuh ghujp  D) ,isa fk;gd; 

25. ehyhapu jpt;tpag;gpuge;jj;ijj; njhFj;jth;? 

A) ek;gpahz;lhh; ek;gp  

B) NtjKdp 

C) ehjKdp   

D) nghpathr;rhd; gps;is 

26. vl;Lj;njhif Ehy;fspy; mfk; rhh;e;j Ehy; 
vz;zpf;if vj;jid? 

A) 3   B) 7 

C) 2   D) 5 

27. cUt topghL nra;ahky; ntl;lntspiaNa 
flTshf topg;gl;l rpj;jh; ahh;? 

A) ghk;ghl;br; rpj;jh;  

B) fLntspr; rpj;jh; 

C) Fjk;igr; rpj;jh;  

D) mOFzpr; rp;j;jh; 

28. Fwl;il xyp rpWfijapd; Mrphpah; 

A) K.tujuhrdhh; B) mfpyd; 

C) tpe;jd;   D) GJikg;gpj;jd; 

29. „kPJhz; tpUk;Ngy;‟ vd;W $wpath; 
A) jpU%yh;  B) jpUts;Sth; 

C) ghujpahh;  D) xsitahh; 

30. Jkpof kf;fshy; „fhe;jpaf; ftpQh;‟ vdg; 
ngUikAld; miof;fg;ngw;wth; 

A) nt. ,uhkypq;fdhh;  

B) ghhujpahh; 

C) jpU.tp. fypahz Re;judhh; 

D) kPdhl;rp Re;judhh; 

31.  „kyUk; khiyAk;‟ vd;w Ehiy ,aw;wpath; 
A) jpU.tp. fy;ahzRe;juk;  

B) K. tujuhrd; 

C) ftpkzp Njrpf tpehafk; 

D) nt. ,uhkypq;fk; 

32. „Ezq;fpEhy; Nehf;fp ,ioah‟ ,j;njhlhpy; 
„Ezq;fp‟ vd;gjd; nghUs; 
A) Muha;e;J  B) Ez;zwpT 

C) tzq;fp  D) gzpe;J 

33.  “trdeil ifte;j ty;yhsh;” – vdg; 
ghuhl;lg;gl;lth; 

A) MWKf ehtyh;  

B) kiwkiyabfs; 

C) ghpjpkhw;fiyQh;  

D) ,uh.gp.NrJg;gps;is 

34. „<rhd Njrpfh;‟ vd;W miof;fg;gLgth; 

A) ftpkzp Njrpf tpehafk; gps;is 

B) QhdNjrpfh; 

C) Rthkpehj Njrpfh; 

D) kiwkiy mbfs; 

35.   kfhtpj;Jthd; kPdhl;rp Re;judhh; gpwe;j 
Mz;L 

A) 1715   B) 1755 

C) 1785   D) 1815 
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36. nghUj;Jf: 
1. kJuftp - ehy;tiff; 

ftpfisAk; ghl 
ty;yth; 

2. tpj;jhuf;ftp - ghL vdf; 
$wpaTld; ghLgth; 

3. ghtyNuW - njhlh;epiyr; 
nra;ASk;> Jha 
fhg;gpaq;fSk; 
,aw;Wgth; 

4. MRftp - Xir eyk; 
rpwf;fg; ghLgth; 

A) 3214   B) 4312 

C) 1243   D) 2431 
37. nghUj;Jf 

 1) tpidKw;Wj;njhlh; - cile;jehw;fhyp 

 2) tpspj;njhlh; - te;J epd;whd; 

3) nganur;rnjhlh; - fz;zh th! 

4) tpidnar;rj;njhlh; - te;jhd; ,uhkd; 

A) 2 3 4 1   B) 4 3 1 2 

C) 2 3 1 4  D)  4 1 2 3 

38. tPukhKdpth; gw;wpa $w;Wfspy; rhpahdJ? 

1) ,tuJ ,aw;ngah; fhd;];lhz;bd; N[hrg; 

ng];fp 

2) ,th; gpwe;j ehL gpuhd;]; 

3) jk; 30k; tajpy; rkag;gzpahw;w 

jkpofj;jpw;F te;jhh; 

4) QhdcgNjrk;> gukhh;j;j FUfij> 

jpUf;fhtYhh; fyk;gfk;> njhd;Dhy; 

tpsf;fk;> fpj;Njhpak;khs; mk;khid Kjypa 

E}y;fis vOjpAs;shH. 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 1 2 4 rhp  D) 1 2 3 4 rhp 

39. ,tw;wpy; vJ tPukhKdpth; ,aw;wpa Ehy;? 

1) Fl;bj;njhy;fhg;gpak; 

2) ,ul;rz;a uhj;jphpfk; 

3) gukhh;j;j FUfij 

4) fpj;Njhp mk;khs; mk;khid 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 1 2 4 rhp  D) 1 2 3 4 rhp 

40. ,tw;wpy; vJ rq;fujhr Rthkpfs; 

vOjpajpy; rhpahdJ? 

A) gpufyhjd;> rpWnjhz;ld; 

B) ,yFtrh 

C) mgpkd;A  

D) midj;Jk; rhp 

41. nghUj;Jf 

 1) murd; te;jJ - ,ltO 

 2) fgpyd; Ngrpdhs; - vz;tO 

3) Fapy;fs; $tpaJ -ghy;tO 

4) fkyh rphpj;jha; - jpiztO 

A) 3 4 2 1   B) 4 3 1 2 

C) 4 3 2 1  D)  3 4 1 2 

42. nghUj;Jf 

 1) fl;L + NrhW - ,ay;G tpfhuk; 

 2) fz;  + kyh; - nfLjy; tpfhuk; 

 3) tsk; + Ehy; - jphpjy; tpfhuk; 

 4) Ks; + nrb - Njhd;wy; tpfhuk; 

m) 4 1 3 2   B) 4 1 2 3  

,) 4 3 2 1   D)  4 2 1 3 

43. „gz;nzhL jkpnohg;gha;‟ vdj;njhlq;Fk; 
ghly; ,lk;ngWk; Ehy;. 

A) jpUthrfk;  B) Njthuk; 

C) jpUf;Fws;  D) gl;bdg;ghiy 

44.  “gz;nzhL jkpnohg;gha;” vd;w ghly; ,lk; 
ngw;w Ehy; vJ? 

A) jpUthrfk;   

B) jpUf;Fws; 

C) Njthuk;   

D) jpUj;njhz;lh; Guhzk; 
45. fpwpj;jtf;fk;gh; vdg; Gfog;ngWgth; 

A) [hd;gd;ad;   

B) vr;.V.fpUl;bddhh; 

C) n`d;wp 

D) tPukhKdpth; 
46. ew;wpiziaj; njhFg;gpj;jth;. 

A) gd;dhL je;j khwd; tOjp 

B) cf;ug; ngUtOjp 
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C) ,sk; ngUtOjp 

D) kpis fpohd; 
47. jpUf;Fwspy; vj;jid mjpfhuk; cs;sd. 

A) 33   B) 133 

C) 13   D) 1330 
48. ghujpjhrdhh; vr;rpwg;Gg; ngauhy; 

miof;fg;gLfpwhh;. 

A) Gul;rpf; ftpQh; B) Njrpaf; ftpQh; 

C) ctikf; ftpQh; D) ftpf;Fapy; 

49. „ciuapilapl;l ghl;Lilr; nra;As;‟ vd 
toq;fg;gLk; fhg;gpak; vJ? 

A) rpyg;gjpfhuk;  B) kzpNkfiy 

C) rPtfrpe;jhkzp D) tisahgjp 
50. irtj;jpUKiwfspy; ----------- jpUKiw 

jpUke;jpuk;. 

A) VohtJ  B) gj;jhtJ 

C) vl;lhtJ  D) %d;whtJ 

51. „xd;Nw Fyk; xUtNd Njtd;‟ – vd;gJ 
ve;Ehypd; Gfo;kpf;fj;njhlh;. 

A) Njthuk;   

B) jpUthrfk; 

C) jpUke;jpuk;   

D) ehyhapuj; jpt;tpag;gpuge;jk; 
52. jtwhdtw;iwj; Njh;T nra;f: 

FkuFUguhpd; Ehy;fs; 

A) fe;jh; fypntz;gh 

B) Ntjpah; xOf;fk; 

C) ePjpnewp tpsf;fk; 

D) rfyfyhty;yp khiy 
53. Kf;$lw;gs;S fw;gjd; gad; 

A) coTj;njhopy;  

B) kPd;tiffs; 

C) tpijfspd; ngah;fs; 

D) midj;Jk; 

54. „#o;e;J khkap yhb ehlfk; 

Jsf;FWj;jdNt‟ - ,lk; ngw;Ws;s 
fhg;gpak; 

A) kzpNkfiy  B) rpyg;gjpfhuk; 

C) rPtfrpe;jhkzp D) Fz;lyNfrp 

55.  “jkpo; tpUe;J” vDk; Ehypd; Mrphpah;? 

A) uh.gp. NrJg;gps;is   

B)fp.M.ng. tpRtehjk; 

C) K.tujuhrdhh; 

D) e.K. Ntq;rlrhkp ehl;lhh; 

56. nghUj;Jf 

 1) rpq;fk; fizj;jJ- vz;tO 

 2) fz;zd; gbj;jhs;- fhy tO 

3) ,d;W tUthd; -jpiz tO 

4) fgpyd; NgrpaJ - kuG tO 

5) gwitfs; gwe;jJ- ghy; tO 

A) 5 3 2 4 1 

B) 5 3 2 1 4 

C) 5 2 3 4 1 

D) 4 5 2 3 1 

57. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. jpy;iyahb ts;spak;ikapd;je;ij 

KDrhkp GJr;NrhpapYk;> jha;; ghDkjp 

jpy;iyahbapYk; gpwe;jhh;. 

2. jpy;iyahb ts;spak;ikapd; ngw;Nwhh; 

gpiog;Gf;fhf FbNawpa ,lk; njd; 

Mg;gphpf;fhtpy; cs;s N[hfd;]; gh;f; MFk;. 

3. jpy;iyahb ts;spak;ik 1898y; njd; 

Mg;gphpf;fhtpy; gpwe;jhh;. 

4. 1913 brk;gh; 23y; thy;f;];u];l; vDk; 

,lj;jpy; eilngw;w mwg; Nghhpy; 

ts;spak;ik ifJ nra;ag;gl;lhh;. 

A) 1 2 3; rhp  B) 1 3 4; rhp 

C) 2 3 4; rhp  D) 1 2 3 4 rhp 

58. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1.epd;w rPhpd; <w;wpirAk; tUk;rPhpd; 

KjyirAk; xd;wpAk; xd;whkYk; tUtJ 

jis vdg;gLk;. 

2. jis vd;why; fl;Ljy; vd;W nghUs; 

MFk;. 

3. Neh; Kd epiuAk;;;> epiu Kd; NeUk; 

tUtJ xd;wp tUjyhFk;. 

4. Neh; Kd; epiuAk;> epiu Kd; NeUk; 

tUtJ xd;whky; tUjyhFk;. 
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A) 1 2 3 rhp  B) 1 2 4; rhp 

C) 2 3 4; rhp  D) 1 2 3 4 rhp 

59. nghUj;Jf 

1. kdf; Fuq;F - - vz;Zk;ik 

2. ehLefh; - - cUtfk; 

3. nrk;nghd; - - ck;ikj;njhif 

4. khLk; MLk; - - gz;Gj;njhif 

A) 3 4 1 2  B) 1 3 2 4 

C) 2 3 4 1  D) 1 2 3 4 

60. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. fpwpj;Jtf; fk;gh; vd miof;fg;gLgth; 

எச்.ஏ.கிருஷ்ணபிள்ளை Mthh;. 

2. ul;rz;a kNdhfuk;> ul;rz;af;Fws; 

ul;rz;a rkaeph;zak; Kjypa Ehy;fis 

vOjpath;  எச்.ஏ.கிருஷ்ணபிள்ளை Mthh;. 

3. [hd; ypl;by; vDk; Gfo;ngw;w Mq;fpy 

Ehyhrphpah; ,aw;wpa gpy;fpupk;]; GNuhfpu]; 

vDk; Ehiyj; jOtp 

எச்.ஏ.கிருஷ்ணபிள்ளை; topEhyhf 

vOjpaNj ul;rz;a uhj;jphpfk; MFk;. 

4. midj;Jk; rhp 

A) 1 2 rhp    B) 2 4 1; rhp  

C) 4 3 1 2rhp  D) 1 3 4 2 rhp 

61. “cs;nshd;W itj;Jg; Gwnkhd;W NgRthh; 

cwT fythik Ntz;Lk;” vdg; ghbath; 
A) ts;syhh;  B) jhAkhdth; 

C) jpU%yh;  D) mg;gh; 

62. “ey;yJ nra;jy; Mw;wPh; MapDk; 

my;yJ nra;jy; Xk;Gkpd;”. 
,g;ghly; mbfs; ,lk;ngw;Ws;s Ehy; 

A) mfehDhW  B) GwehDhW 

C) FWe;njhif  D) fypj;njhif 

63. fypj;njhifapy; nea;jy;fypiag; ghbath; 

A) ey;ye;Jtdhh ; B) ef;fPuh; 

C) fgpyh;   D) Xuk;Nghfpahh; 

64. fhe;jpabfs; ve;j ehlf Ehiyg; gbj;jJ 
Kjy; jd; ngw;Nwhhplk; md;G 
nrYj;jyhdhh;? 

A) rputzgpJh;gj;jp B) mhpre;jpud; 

C) gf;jg;gpufyhjd; D) ,uhk ehlfk; 

65. gj;Jg;ghl;by; Fiwe;j mbfisAila Ehy; 

A) neLey;thil  B) Ky;iyg; ghl;L 

C) FwpQ;rpg; ghl;L D) kJiuf; fhQ;rp 

66. „ehlftpay;‟ vd;Dk; Ehypd; Mrphpah; 

A) rq;fujhR Rthkpfs; 

B) ghpjpkhw;fiyQh; 

C) gk;ky; rk;ge;jdhh;  

D) xsit rz;Kfk; 

67. jkpofj;jpd; kpfg; goikahd Filtiuf; 

Nfhapy; vq;Fs;sJ? 

A) gps;isahHg; gl;b 

B) ngUkhs; gl;b 

C) Rq;FthHg; gl;b 

D) nry;yg;gpuhl;b 

68. Mde;j tpfld; ,jopy; jk; tho;f;if 

tuyhw;iw njhluhf vOjpatH 

A) c.Nt.rhkpehjd; 

B) k.ngh.rptQhdk; 

C) jpU.tp.fy;ahzRe;judhH 

D) jhuh.ghujp 
69. jpUtpisahlw; Guhzj;jpy; tUk; 

tpUj;jg;ghf;fs; 

A) %thapuj;J Ke;Ehw;W mWgj;J %d;W 

B) %thapuj;J ,UEhw;W mWgj;J %d;W 

C) %thapuj;J %d;W 

D) %thapuj;J vOgj;J %d;W 
70. kzpNkfiy Fwpg;gpLk; Fw;wq;fs; vj;jid? 

A) vl;L   B) VO 

C) gj;J   D) xd;gJ 

71. „vd;Dila rNfhjhpapd; kuzj;ijtplTk; 

ts;spak;ikapd; kuzk; Nghpbahf ,Ue;jJ‟ 
vd;W $wpath;. 

A) jpyfh;   B) fhe;jpabfs; 

C) t.c.rpjk;gudhh; D) jpUg;G+h; Fkud; 

72. “Gfnodpd; capUk; nfhLj;jth; gopnadpd; 

cyFld; ngwpDk; nfhs;sh;” vDk; ghly; 

thpfs; ,lk; ngw;Ws;s Ehy;? 
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A) njhy;fhg;gpak;  B)ed;Dhy; 

C) GwehDhW  D) ghpghly; 

73. nghUj;Jf 

 1) fs; - ft;tp 

 2) Nrb - Njd; 

3) jhh;   - Njhop 

4) ntstp   - khiy 

A) 1 2 3 4   B) 2 3 4 1 

C) 3 4 2 1  D)  4 2 3 1 

74. ngah;r;nrhy;ypd; nghUis 

nra;g;gLnghUshf NtWgLj;JtJ? 

A) vOtha; Ntw;Wik  

B)tpspNtw;Wik 

C) ,uz;lhk; Ntw;Wik   

D) %d;whk; Ntw;Wik 

75. ehlfk; mjd; tpsf;fk; tiffs; vOjg;gl 

Ntz;ba Kiwfs; ebg;Gf;Fhpa ,yf;fzk; 

ebg;gth;fSf;Fhpa ,yf;fzk; gw;wp $Wk; 

Ehy;? 

A) ehlftpay;      B) ehlfj;jkpo; 

C) rpyg;gjpfhuk;      D) njhy;fhg;gpak; 

76. FwtQ;rp ehlfq;fs; Njhd;wpa ahUila 

fhyj;jpy; Njhd;wpaJ? 

A) kuhl;ba kd;dh;fs;  

B) tp[a efu kd;dh;fs; 

C) ehaf;f kd;dh;fs; 

D) Nrhoh;fs; 

77. nghUj;Jf 

1. Nrtb - ctikj;njhif 

2. ,Ug;G - gz;Gj;njhif 

3. fdptha; - typj;jy; tpfhuk; 

A) 1 2 3  B) 2 3 1 

,) 1 3 2  D) 3 2 1 

78. nghUj;Jf 

1. nrw;wk; - rpdk; 

2. FUR - rpijf;fg;gl;L 

3. Jsf;fk; - rpYit 

4. rijg;Gz;L - tpsf;fk; 

A) 1 4 2 3  B) 2 4 1 3 

C) 1 3 4 2  D) 3 1 4 2 

79. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1.nra;Aspy; mbNjhWk; Kjy; vOj;J 

xd;wptuj; njhLg;gJ mbNkhidj; njhil 

vdg;gLk;. 

2. mbNjhWk; filvOj;J msnthj;J epw;f 

,uz;lhk; vOj;J xd;wptuj; njhLg;gJ 

mbnaJifj; njhil vdg;gLk;. 

3. mbNjhWk; Kjw;rPh; Kuz;glj; njhLg;gJ 

mbKuz; njhil vdg;gLk;. 

4. mbNjhWk; ,Wjpr;rPh; xd;wptuj; njhLg;gJ 

mb,iaGj; njhil vdg;gLk;. 

A) 1 2 3; rhp  B) 1 3 4 rhp 

C) 2 3 4; rhp  D) 1 2 3 4 rhp 

80. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1.jis 8 tifg;gLk;. 

2. khKd; Neh;tUtJ Nenuhd;whrpupaj; jis 

MFk;. tpsk;Kd; epiu tUtJ 

epiunahd;uhrphpaj; jis vdg;gLk;. 

3. khKd; epiuAk;> tpsKd; NeUk; tUtJ 

,aw;rPh; ntz;lis MFk;. 

4. fha;Kd; Neh;tUtJ ntz;rPh; ntz;lis 

MFk;. 

A) 1 2 3 rhp  B) 1 3 4 rhp 

C) 2 3 4 rhp  D) 1 2 3 4 rhp 

81. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. ntz;ghtpw;F cupa jisfs; ,aw;rPh; 

ntz;lisAk; ntz;rPh; ntz;lisAk; 

MFk;. ,t;tpU jisfs; jtpu gpw jisfs; 

thuh. 

2. fha;Kd; epiu tUtJ fypj;jis MFk;. 
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3. fdpKd; epiu tUtJ xd;whj tQ;rpj; 

jis MFk;. 

4. fdp Kd; Neh; tUtJ xd;wpa 

tQ;rpj;jis MFk;. 

A) 1 2 rhp  B) 1 3 4 rhp 

C) 2 3 4; rhp  D) 1 2 3 4 rhp 

82. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. gh];fujh]; ney;iyapy; gpwe;jhh;.  

2. gh];fujh]; 1892 – 1962 tiu 

tho;e;Js;shh;. 

3. gh];fujh]; tho;e;j gFjp kJuftp 

gh];fujh]; efh; vd ngahplg;gl;Ls;sJ. 

4. midj;Jk; rhp 

83. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. ,ul;rz;a ahj;jphpfj;jpd; Mrphpah; 

tPukhKdpth; Mthh;. 

2. ,NaR a+Nja kuGfis kPwpdhh; vd 

ngha; Fw;wQ;rhl;b ,];Nuy; kd;dd; 

kuzjz;lid tpjpj;jhd;. 

3. ehrNuj; vd;gJ ,];NuYf;F mUfpy; 

cs;sJ. 

4. midj;Jk; rhp 

84. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. nfhw;if ghz;bah;fspd; JiwKfk; 

MFk;. 

2. nfhw;ifj; JiwKfj;jpy; Kj;Jf; 

Fspj;jy; rpwg;ghf ele;jjid ntdpR 

ehl;lwpQh; khh;f;NfhNghNyh Fwpj;Js;shh;. 

3. kJiuf;fhQ;rpAk;> rpWghzhw;Wg;gilAk; 

nfhw;if  JiwKfj;jpijr; rpwg;gpf;fpd;wd. 

4. tpise;J Kjph;e;j tpO Kj;J vd 

kJiuf; fhQ;rp $WfpwJ. 

A) 1 2 3; rhp  B) 1 2 4 rhp 

C) 2 3 4 rhp  D) 1 2 3 4 rhp 

85. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. 1945y; gpufhrk;> 1947y; Xke;Jhh; 

,uhkrhkp> 1949y; Fkhurhkp MfpNahh; 

Kjyikr;ruhfg; gjtpNaw;gjw;Ff; fhkuh[h; 

fhuzkhf ,Ue;jhh;. 

2. fhkuh[h; jiyth;fis cUthf;Fgth; 

vd miof;fg;gl;lhh;. 

3. fhkhuh[h; 1955 – 1964 tiu 9 Mz;Lfs; 

jkpo;ehl;bd; Kjyikr;ruhf ,Ue;jhh;. 

4. fhkuh[h; fhyj;jpy; Kd;dhs; FbauRj; 

jiyth; Mh;. ntq;fl;uhkd; 

njhopyikr;ruhfTk;> rp. Rg;gpukzpak;  

fy;tpaikr;ruhfTk; gzpahw;wpdhh;. 

A) 1 2 4; rhp  B) 1 3 4 rhp 

C) 2 3 4 rhp  D) 1 2 3 4 rhp 

86. nghUj;Jf 

1. fe;Jfk; - - R+yk; 

2. Nfhzk; - - Ntdpw;fhyk; 

3. Fe;jk; - - ge;J 

4. Nfhil - - thl;gil 

A) 3 4 1 2   B) 4 2 1 3 

C) 2 1 4 3   D) 1 3 4 2 

87. nghUj;Jf 

1. tUthd; - - ,we;jfhy 

,ilepiy 

2. fhzhd; - - epfo;fhy 

,ilepiy 

3. ghh;j;jhd; - - vjph;fhy 

,ilepiy 

4. elf;fpwhd; - - vjph;kiw 

,ilepiy 

A) 3 4 1 2   B) 4 3 1 2 

C) 1 2 4 3   D) 2 4 1 3 

88. fPo;f;fz;l $w;Wfspy; rhpahdit? 

1. ,irahapuk;> cyhkly; Nghd;w 

Ehy;fis vOjpath; n[ak; nfhz;lhh; 

Mthh;. 
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2. n[ak; nfhz;lhhpd; fhyk; 11 k; 

Ehw;whz;L MFk;. 

3. Mapuf;fzf;fhd ahidfisg; Nghhpy; 

nfhd;w tPuidg; Gfo;e;J ghLk; 

,yf;fpaj;jpw;fg; guzp vd;W ngah;. 

4. guzp njhz;Zhw;whW tif 

rpw;wpyf;fpaq;fSs; xd;whFk;. 

A) 1 2 3 rhp  B) 1 3 4; rhp 

C) 2 3 4 rhp  D) 1 2 3 4 rhp 

89. nghUj;Jf 

1. kjp - - ePh; 

2. cF - - neUg;gpy; 

3. Gdy; - - epyT 

4. jPapd; tha; - - nrhhpe;j 

A) 2 3 1 4  B) 3 4 1 2 

C) 4 1 3 2  D) 1 4 2 3 

90. nghUj;Jf 

1. vdh - tpidnar;rk; 

2. nre;eha; - gz;Gj;njhif 

3.fUKfpYk; 

ntz;kjpAk; 

- vz;Zk;ik 

4.tpah;e;j 

tpah;td;Nwh 

- nganur;rk; 

A) 4 3 1 2  B) 1 2 3 4 

C) 1 3 2 4  D) 3 2 1 4 

91.  „kyh;jiy Qhyj;J kd;Daph;f;nfy;yhk; 

jFjpahy; tho;jy;‟ - ,t;tbfs; ,lk; 
ngWk; Ehy; 

A) fhh; ehw;gJ   

B) kJiuf; fhQ;rp 

C) ,dpait ehw;gJ 

D) Ie;jpid Ik;gJ 

92. Mrdj;jpy; G+ridfs; mkh;tpj;J 
tpUg;gpDld; 
thrk; epiw jpUePw;Wf; fhg;Nge;jp 
kde;jiog;g - ,g;ghlybfs; ,lk; ngWk; 
Ehy; 

A) nghpa Guhzk; B) fe;jGuhzk; 

C) rpyg;gjpfhuk;  D) kzpNkfiy 

93. “ePyKb jhpj;j gy kiy Nrh;ehL 

ePuKj nkdg; gha;e;J epuk;G ehL” 
-- ,g;Gfo;kpf;f ghlybfs; ,lk; ngw;Ws;s 
Ehy; 

A) Fapy; ghl;L  B) ghQ;rhyp rgjk; 

C) fz;zd; ghl;L D) mofpd; rphpg;G 

94. „ehw;fuzq;fs;‟ vdg;gLtJ ----------- 
A) mwk;> nghUs;> ,d;gk;> tPL 

B) ntz;gh> Mrphpag;gh> fypg;gh> tQ;rpg;gh 

C) kdk;> Gj;jp> rpj;jk;> mfq;fhuk; 

D) itjUg;gk;> nfslk;> ghQ;rhyk;> khfjk; 

95. „jkpo;nfO $ly;‟ vd;W kJiuiag; 
Nghw;wpa Ehy; 

A)mfehDhW  B) rpyg;gjpfhuk; 

C) GwehDhW  D) ghpghly; 

96. “rq;flk; tpistpf;Fk; rhjpiaAk; 
kjj;ijAk; jtph;j;Njd;” vdf; $wpath; 
A) fhe;jpabfs;  B) ,uhkhD[h; 

C) nghpahh;  D) ts;syhh; 

97. ehyhapu jpy;tpag; gpuge;jj;jpd; %d;whk; 
jpUte;jhjpia ,aw;wpath; 

A) ngha;ifaho;thh; B) G+jj;jho;thh; 

C) ek;kho;thh;  D) Ngaho;thh; 

98. jkpo; vz; fzf;ifj; jPh;f;f: 

qm + f0 = -----------? 

A) Um B) rm   C) Rm D) vm 

99. njd;dk; nghUg;G vd;gJ 

A) nghjpif kiy B) NkU kiy 

C) fOF kiy   D) ePy kiy 

100. “ahd; ngw;w ngUe;jtg; Ng(W) vd;id 
md;wp 

,U epyj;jpy; gpwe;Njhhpy; ahh; ngw;whNu” 
,t;tbfs; ,lk; ngWk; Ehy;. 

A) ,uhkhazk;   

B) esntz;gh 

C) rpyg;gjpfhuk;   

D) tpy;yp ghujk; 
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Model Test 5 (General English) - TNPSC Group 2 (A)

1. Choose the correct answer ―In which year, 

Kalpana Chawla‘s path to the Milky way was 
paved?‖ 

A) 1995   B) 1993 

C) 1994   D) 1988 

2. ―Success does not mean the absence of 
failures‖Who said this? 

A) Edwin C Bliss 

B) Dale Carnegie 

C) Dr. A.P.J. Abdul Kalam 

D) Hope Spencer 

3. What is the historical importance of September 

11, 2001? 

A) Tsunami 

B) Attack of the Twin Towers 

C) Bomb blast in Hiroshima 

D) World War II 

4. Choose the correct name of a Messiaen from the 

options Messiaen — a child Prodigy in Music 

A) Oliver Twist   

B) Olivia 

C) Olivier Eugene Prosper Charles  

D) Olivian Prospero 

5. Identify the figure of speech used in the 

following poetic line : 

And all day the iron wheels are droning 

A) Oxymoron  B)Onomatopoeia 

C) Assonance  D) Metaphor 

6. Tagore won the Nobel prize for literature in 

A) 1947   B) 1920 

C) 1913   D) 1964 

7. Find out the figure of speech in the following 

poetic lines : 

―O If you can meet with triumph and disaster 
And treat those two impostors just the same‖. 
A) Personification  B) Simile 

C) Metaphor  D) Oximoron 

8. ―On the day of Sicilian July, with Etna Smoking 
The voice of Education said to me ‖ 

 In these lines, 

 The word ―Etna‖ refers to ______ 

A) Volcano  B) River 

C) Mountain  D) City 

9. Choose the correct option : 

The Giant‘s final journey was ______. 
A) to his friend‘s place 

B) to the neighbouring village 

C) to paradise 

D) to his brother‘s, house 

10. Find out the correct author of this line : 

―That should not be done in Puncha-Kandam‖. 
A) Kamala Das 

B) Dr. A.P.J. Abdul Kalam 

C) ThakazhiSivasankaraPillai 

D) Rabindranath Tagore 

11. Mercy droppeth as the gentle rain from Heaven. 

This line is taken from _______ 

A) Julius Caesar  

B) After the storm 

C) The Sun Beam  

D) The Merchant of Venice 

12. Match the poems with poets : 

A B 

(a) Sonnet No. 116 

(b) The Solitary 

Reaper 

1. Walt Whitman 

2. Douglas Mallock 

3.William Shakespeare 
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(c) Be the Best 

(d) O Captain! My 

Captain 

4.William Wordsworth 

 (a) (    b) (c) (d) 

A)    4     3     1 2 

B)    1     2     3 4 

C)    3     4     2 1 

D)    2     3     1 4 

13. Change the British English word replacing the 

American English Karan dried the nappy. 

A) coat   B) truck 

C) diaper   D) mail 

14. Which of the following is a drama? 

A) Julius Caesar  

B) Hiroshima 

C) English Words 

D) The mark of Vishnu 

15. Identify the speaker/character of the following 

lines. O, Judgement! Thou art fled to brutish 

beasts And men have lost their reason! 

A) Casca   B) Decious Brutus  

C) Mark Antony  D) Marcus Brutus 

16. Baron Hausberg was a _______ 

Fill in the blank choosing the correct option. 

A) Millionaire model   

B) Model Millionaire 

C) Painter   

D) Colonel 

17. Blend the following words and select the correct 

codes given below. 

(a) Lecture 1. Broadcast 

(b) Technology 2. Music 

(c) News 3. Wizard 

(d) Pop 4. 

Demonstration 

    

 (a) (b) (c) (d) 

A) 3 1 4 2 

B) 2 4 3 1 

C) 4 3 1 2 

D) 1 4 2 3 

18. Choose the opposite of the word ‗Charm‘ from 

the options given below. 

A) Magic    B) Beauty 

C) Ugliness  D) Elegance 

19. Match the following words and phrases in 

Column A with their meaning in Column B.  

Column A   Column B 

(a) on account 

of 

1. in the middle 

of (b) in the midst 

of 

2. to put up 

with (c) to bear with 3. to get used 

to (d) to be 

accustomed to 

4. owing to  

 (a) (b) (c) (d) 

A) 1 2 3 4 

B) 4 2 1 3 

C) 4 1 2 3 

D) 3 1 2 4 

20. Identify the sentence which is in the superlative 

degree. 

A) This street is busier than any other street in 

the area 

B) Sheriff is as tall as his brother 

C) The street is the busiest one in the area  

D) Your pencil is sharper than mine 

21. Form a compound word using Noun + Verb 

 A) passport  B) downfall 

 C) eve teasing   D) bus stand 

22. Find out the verb from the following 

 A) proud   B) clean 

 C) wiser   D) elect 

23. ―Appearances can be deceptive  
And to the superficial gaze  

The outside looks dull and grey  

Plain looking in many ways‖. 
The Rhyme Scheme used in the above given 

lines is 

(A) a b a b 

(B) a b c b 

(C) a b b a 

(D) a c a b 

24. Choose the correct answer 
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What is the theme of the story ―The Model 
Millionaire‘‘? 

A) Appearances are deceptive 

B) All the glitters is not Gold 

C) No Man is an island 

D) Fine feathers make fine birds 

25. ".......The journey matters as much as the 

goal‖. Who said this? 

A)KesavanNair  B) Portia 

C) KalpanaChawla  D) Mrs.Hendorson 

26. Select the correct Tense : 

 I ______ (leave) for Mumbai tomorrow evening  

 A) shall be leaving   

 B) leave 

 C) would be leaving  

 D) am leaving 

27. Match the British English Words in Column A 

with the American English Words inColumn B 

Column A - BE  Column B – AE 

(a) Fellow 

(b) Interval 

(c) Jug 

(d) Shop assistant 

(e) Boot 

1. Pitcher 

2. Guy 

3. Intermission 

4. Trunk 

5. Sales clerk 

 

 (a) (b) (c) (d) (e) 

A) 2 3 4 1 5 

B) 2 3 1 5 4 

C) 1 3 2 5 4 

D) 4 5 2 3 1 

28. Choose the sentence which has no error  

A) I bought a blue colour shirt and tie  

B) I bought a blue shirt and a tie 

C) I bought a blue coloured shirt and a tie 

D) I bought a blue colour shirt with a tie 

29. Find out the odd words 

A) telling   B) diving  

C) beauty   D) swimming 

30. Choose the correct sentence from the given 

options 

A) Rani made an universal appeal 

B) Rani made the universal appeal  

C) Rani made a universal appeal 

D) Rani made universal appeal 

31. Choose the correct (word) synonym for the 

underlined word from the option given: Where 

did this grit come from? 

A) great   B) apparent 

C) determination  D) obvious 

32. Match the following words in Column A with 

their meanings in Column B and select correct 

answer from the codes given  

      Column A   Column B 

(   a) alms 

(   b) popular 

(   c) ragged 

(  d) amazing 

  1. untidy 

  2. splendid 

  3. offerings 

  4. well known 

 

 (a) (b) (c) (d) 

A) 1 2 4 3 

B) 3 4 2 1 

C) 3 4 1 2 

D) 2 1 3 4 

33. Identify the complex sentence from the 

following 

A) Anu was poor but she stood first in the exam 

B) Anu was poor still she stood first in the exam  

C) Though Anu was poor, she stood first in the 

exam 

D) Despite her poverty Anu stood first in the 

exam 

34. Match the words in Column A with its meanings 

in Column B 

Column A Column B 

(a) mutiny 

(b) onslaught 

(c) defy 

(d) ammunition 

(e) futile 

1. violent attack 

2. Useless 

3. rebel 

4. disobey 

5. weapons 

  (a) (b) (c) (d) (e) 

A) 3 1 4 5 2 

B) 1 4 3 2 5 

C) 2 3 1 4 5 

D) 5 3 2 1 4 
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35. Identify the correct degree : 

 Dina‘s pencil is ______(sharp) thanCaroline. 
(A) sharper  (B) as sharp as 

(C) more sharp  (D) sharpest 

36. Change the following adjective into adverb 

‗near‘ 
A) nearer   B) nearly 

C) nearest   D) none 

37. Identify the sentence pattern. 

The teacher looked tired at the end of the period 

A) S V C A 

B) S V O C 

C) S V IO DO 

D) S V O A 

38. Choose the correct antonym for the underlined 

word from the options given. Frailty thy name is 

woman.  

A) Knowledge  B) Loyalty 

C) Strength  D) Pity 

39. This was the most unkindest cut of all.  

Identify the speaker.  

A) Calphurnia  B) Brutus 

C) Mark Antony   D) Cassius  

40. Name the village that were abandoned due to 

Indo-China War. 

A) RageshKund  B) Bhutia  

C) Burfu   D) Bilju  

41. What resource is required to attain the 

developed status? 

A) Natural resource  

B) Human resource 

C) Oil resource   

D) Water resource 

42. Who was the first senator to stab Caesar? 

A) Casca   B) Lepidus 

C) Mark Antony  D) Brutus 

43. ―You make me sit on a cushion between your 
knees‖.  

The person who is talked about here is the ____  

A) mother   B) grandmother 

C) the little child  D) father  

44. In which of the poem do the following lines 

Occur?  

―We ran as if to meet the moon  

That slowly dawned behind the trees‖  
A) Beautiful inside  

B) Going for water  

C) The Piano   

D) Shilpi  

45. Which nationality the story-belong to?— ‗The 
Open Window‘. 
A) Burma   B) Japan  

C) America  D) Russia 

46. ‗As humble plants by country hedgerows 
growing that treasure up the rain‘. 
The figure of speech employed here is ______. 

A) Allusion  B) Metaphor 

C) Simile   D) Personification 

47. ―The music in my heart I bore  

Long after it was heard no more‖.  

These lines are taken from the poem_____ 

A) The Solitary Reaper  

B) The man he killed 

C) Be the best   

(D) Women‘s right  
48. ―To call woman the weaker sex is a libel; 

It is man‘s injustice to woman‖. 
Who said these words about women? 

A) Rabindranath Tagore  

B) Vallabhai Patel 

C) Mahatma Gandhi 

D) Dr. Abdul Kalam 

49. Form a new word by blending the words. 

Electro + execute  

A) eleuted   B) elexecuted  

C) eleccuted  D) electrocute 

50. Mention the poem in which this line occur. 

―Think me not unkind and rude‖ 

A) Be glad your Nose is on your face 

B) The Apology   

C) Prayer of a sportsman   

D) A Psalm of Life 

51. Fill up the blank with the suitable option. 
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The value highlighted in the story ―TWO 
FRIENDS‖ is _________ 

A) Friendship  B) Patriotism 

C) Humanism  D) Justice . 

52. ―The story of My Experiments with Truth‖ 

Whose Autobiography is this? : 

A) Kasturibai Gandhi  

B) Indira Gandhi 

C) Mahatma Gandhi 

D) Dr. A.P.J. Abdul Kalam 

53. Identify the author with the short story. 

―Swept away‖.   

A) Rudyard Kipling  

B) Ruskin Bond 

C) Susannah Hickling 

D) DeepaAgarwal 

54. Identify the poetic line that differs in figure of 

speech from the other poetic lines. 

A) In solitary confinement as complete as any 

gaoc 

B) In the bivouac of life 

C) Speech that came like leech craft 

D) Like a king in exile 

55. To which poem these lines belong?  

―O listen! for the vale profound 

Is overflowering with the sound‖ 

A) The Solitary Reaper  

B) Beautiful Inside 

C) A Psalm of Life  

D) The Apology 

56. In which play do the following lines occur? 

―It is not so expressed but what of that? 

‗T‘ were good you do so much for charity‖ 

A) Julius Gaesar  

B) Hamlet 

C) The Merchant of Venice  

D) Macbeth 

57. Answer the appreciation question. 

The best little scrub by the side of the rill. What 

is meant by scrub? 

A) Big trees    

B) Bushes and small trees 

C) Grass   

D) Tall trees 

58. Find out the poem from which the following 

lines occurred? 

―Stalking the length of his cage, Ignoring 
visitors‖  

A) Migrant Bird  

B) A Tiger in the Zoo 

C) The Flying wonder  

D) Laugh and Be Merry  

59. The squirrel said to the mountain,  

―If I can‘t carry forests on my back,  

Neither, can you crack a nut‖.  
Whose quotes are these?  

A) Ralph Waldo Emerson  

B) Lakshmi Mukundan 

C) R.K. Narayan  

D) DhanGopalMukherji  

60. Read the passage and choose the answer for the 

question from the given options. 

―The brave little voyagers face many dangers 
and handships while travelling long, long 

distances‖. Who are the little voyagers?  

A) The refugees  

B) Two friends 

C) The animals in the desert  

D) The migrant birds 

61. ―......the journey matters as much as the goal. 

Listen to the sounds of nature….. Take good 

care our fragile planet‖.  

These are the words of 

A) Dr. A.P.J. Abdul Kalam  

B) Rakesh Sharma 

C) KalpanaChawla 

D) Famida Y. Basheer 

62. The reply was abrupt ―Someone has approached 

me with an offer to take the land on an increased 

rate of rent‘.  

These lines occur in 

A) The Refugee  

B) The Merchant of Venice 

C) The Farmer   
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D) The Helping hand 

63. How did Oliver MessiaenSpend his time in 

prison?  

A) He maintained the garden  

B) He spent his time in singing songs 

C) He wrote musical compositions 

D) He read storybooks  

64. Who was Laura Merton? 

A) Daughter of Baron Hausberg  

B) Sister of Baron Hausbexg  

C) Daughter of a retired Colonel 

D) Sister of Allan Trevor 

65. ―The globe‘s my world. The cloud‘s mykin‖ - 

Whom does ‗my‘ refer to? 

A) the poet  B) a bird 

C) a man   D) an animal 

66. Where did Saruli live?  

A) in a town   

B) in a city 

C) in a small village  

D) in a metropolitan city 

67. Choose the correct plural form from the options. 

A) Daughters-in-law  

B) Governor-generals  

C) Manservants  

D) Spoons ful 

68. ZIP codes are a system of postal code used 

by_______. 

Choose the correct word to complete the 

answer. 

A) Zambia  

B) United States of America  

C) New Zealand  

D) Russia  

69. To which period William Shakespeare belong? 

A) 1564-1616   B) 1612-1700 

C) 1680-1750  D) 1575-1640 

70. They were busy packing their suitcases ____ 

Choose the correct question tag to fill in the 

blanks. 

A) Were they?  B) Don‘t they? 

C) Weren‘t they?   D) Won‘t they? 

71. Choose the correct antonyms for the underlined 

word. Rakesh was inquisitive to know the 

secret,  

A) curious   B) incurious 

C) notorious  D) eager 

72. Identify the kind of sentence. 

It is really surprising that Sambath has not been 

arrested by the police. 

A) Simple   B) Compound 

C) Conditional clause D) Complex 

73. Select the correct plural form.  

Selva is an____of our college.  

A) Alumni   B) Aluminus  

C) Aluminis  D) Aluminies 

74. Choose the gerund from the following 

sentences.  

A) I saw a man running along the road 

B) Seeing the tiger he ran away  

C) Hearing a loud sound, they rushed out 

D) Reading story books gives pleasure  

75. Select the correct question tag. '  

I haven‘t answered your question?  
A) Had I?   B) Haven‘t I?  

C) Have I?   D) Has I?   

76. Select the correct tense.  

He—— (suffer) from colour blindness since his 

birth. 

A) have been suffering   

B) had been suffering  

C) has been suffering   

D) will be suffering 

77. Pulitzer prize for literature was awarded for the 

poem ―American Civil War, John Brown‘s 
Body‖. Who wrote this poem? 

A) Rabindranath Tagore 

B) Henry Wordsworth Longfellow  

C) William Wordsworth 

D) Stephen Vincent Benet  

78. Identify the nationality of the author of the story 

The Lottery Ticket. 

A) Russia   B) USA  

C) India   D) England  
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79. Who among the following was named 

Manikarnika?  

A) Mahasweta Devi  

B) Rani Lakshmi Bai 

C) Bhagirathi Bai  

D) KasthuriBai 

80. From which poem the following lines are taken? 

‗Only bloodshot eyes betray'. 
A) The cry of the children   

B) Shilpi  

C) Manliness 

D) The flying wonder 

81. Choose the correct antonym for the underlined 

word from the options.  

Dyslexic children have problems only in the 

area of language - not in thinking. 

A) Disabled  B) Adyslexic 

C) Dull   D) Intelligent 

82.  ―You should no doubt study public questions 
but wait for your time. But while you are 

students, you should give no cause to anybody‖. 
These are the words of  

A) Abdul Kalam  

B) Abraham Lincoln 

C) Swami Vivekananda 

D) Gopala Krishna Gokhale  

83. Which of the following is a Poem? 

A) The Merchant of Venice  

B) Julius Caesar  

C) Hamlet  

D) The Solitary Reaper  

84. William Wordsworth belongs to _____century.  

A) 16th Century   B) 18
th

 Century 

C) 19th Century  D) 20
th

 Century 

85. Why was Antonio unable to pay his debt? 

A) Ships are lost at sea  

B) Unemployed  

C) Careless for repaying 

D) Spent lavishly 

86. Find out the Error.  

Rakesh stood _______Basker and Prabu. 

A) between  B) on  

C) among   D) to  

87. The theme observed in the poem ‗Where the 
mind is without Fear‘ is________ 

A) A truly free and liberated ideal world 

B) A world where there is green everywhere 

C) A dream world where there is fear 

D) A dream world where everybody is happy 

88. Match the phrasal verbs given in Column A 

with their meanings given in Column B. 

Column 

A 

Column B 

(a) get on 1.keep for future use 

(b) give in 2. continue to resist 

(c) standout 3. yield 

(d) lay by 4. cope with 

 

 (a) (b) (c) (d) 

A) 3 2 4 1 

B) 2 1 3 4 

C) 4 3 2 1 

D) 1 4 3 2 

89. Identify the combination of the following 

compound word from the options. '―Goodwill‖  
A) Noun + Noun  

B) Adjective + Noun  

C) Noun + Verb  

D) Adjective + Adjective  

90. In whose poem do the following lines occur. 

―Join the jubilant song of the great stars 
sweeping by 

Laugh and battle and work and drink of the 

wine outpoured‖ 

A) Khalil Gibran 

B) Ralph Waldo Emerson 

C) H.W. Longfellow   

D) John Masefield 

91. Which of the following is by Rex Coker? 

A) The Thief   

B) A Close Encounter 

C) The Stroke of Genius  

D) A Race in Space  
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92. What is the theme observed in the ―Model 
Millionaire‖? 

A) Patriotism   

B) Faith 

C)  Love  

D) Appearances are deceptive 

93. The story ‗Caught sneezing‘ is adapted from a 
short story by _______ 

A) Oscar Wilde  B) Tammy Ruggles 

C) Rob Reilly  D) MackinlayKanttir 

94. ―Et tu Brute‖? 

These are the famous words of______ 

A) Mark Antony  B) Decius Brutus 

C) Cassius   D) Julius Caesar 

95. Choose the American English equivalent of the 

word ―Goods train‖. 
A) Carriage train  B) Freight train 

C) Baggage train   D) Luggage train 

96. ―Harmonic cacophony to oblivious ears‖ - 

Shilpi 

Identify the figure of speech employed in this 

line. 

A) Oxymoron  B) Metaphor 

C) Alliteration  D) Simile 

97. Among the following poems which one is 

written by Rudyard Kipling? 

A) The cry of the children 

B) Migrant bird   

C) Manliness   

D) Going for water 

98. Which nationality the poet belongs to? 

Ralph Waldo Emerson  

A) Indian   B) American 

C) China   D) England  

99. Match the Name of the author with the short 

stories :     

(a) O‘Henry 

(b) Pearl S 

Buck 

(c) Saki 

(d) Oscar 

Wilde 

1. The Selfish 

Giant 

2. Open window 

3. The Last Leaf 

4. The Refugee 

 (a) (b) (c) (d) 

A) 3 4 2 1 

B) 1 3 2 4 

C) 1 2 4 3 

D) 2 3 1 4 

100. Find out the allusion applied here : 

―Dustthou art, to dust returnest...‖ 

A) Hindu Mythology 

B) Rhyme of Ancient Mariner  

C) The Bible 

D) William Shakespeare 
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Model Test 5 (General Studies) - TNPSC Group 2 (A)
1. Ntiyapd; ghpkhz tha;g;;;ghL 

A) ML
2
T

-2
  B) ML

-2
T

2
 

C) ML
-1

T
2
   D) MLT

-1
 

2. hpr;rh;l;];> ];khyp mwptpayshh;fs; 

fz;lwpe;j fhh;gdpd; GwNtw;Wik tbtk; 

A) fpuhigl;  B) ilkz;L 

C) Gy;yhPd;  D) fUg;G fhh;gd; 

3. gpd;tUtdtw;Ws; gRik ,y;y thA 

my;yhjJ vJ? 

A) ePuhtp   B) O2 

C) O3   D) CO2 

4. ஫காத்஫ா காந்தி ததசி஬ கி஭ா஫ப்பும 

தலலயலாய்ப்பு  உத்தி஭லாத 

திட்டத்தில்(MGNREGP) சிமந்த ததசி஬ 

லிருந்துக்கு எந்த நீர் பாதுகாப்பு ஫ாடல் 

஫ாடல்  ததர்வு சசய்஬ப்பட்டுள்ரது?                                                     

A) ஜால் சஞ்சய்  B) ப்஭ாசஜக்ட் ஜால்   

C) ஜாயால் தஜாதி  D) ஜால் ஫ார்க் 
5. nry;Yf;F cWjp> tY kw;Wk; nry; 

nghUs;fs; efh;jy; Mfpa gzpfis 

nra;Ak; xU Guj ,iofshy; Md ,jd; 

ngah; vd;d? 

A) iyN]hNrhk;fs;  

B) Nfhy;fp cWg;Gfs; 

C) vz;Nlhgpshr tiyfs; 

D) irl;Nlhgpshr vYk;Gf;$L 

6. fPo;fz;ltw;Ws; vijj; jtpu kw;wit ek; 

cztpy; msNthL vLj;Jf; nfhs;s 

Ntz;Lk;? 

A) cg;G rj;J  B) rh;f;fiu 

C) nfhOg;G  D) ehh;rj;J 

7. lh;dhpd; rpz;Nuhk; ,t;thW 

Fwpf;fg;gLfpd;wJ. (m) lh;dhpd; 

xj;jpirj;jpUf;Fk; Neha;Fwp ,t;thW 

Fwpf;fg;gLfpd;wJ 

A) XY   B) XXY 

C) XYY   D) XO 

8. ];ngh;kNlhn[dp]py; vd;gJ 

A) ];ngh;kNlhNfhdpah Kjph;r;rpailjy; 

B) CNfhdpah Kjph;r;rpailjy; 

C) vgpbbk]; Kjph;r;rpailjy; 

D) nrkpdpngu]; Foha; Kjph;r;rpailjy; 

9. ,e;jpahtpNyNa ……….. vd;w vUik ,dk; 

jhd; mjpf mstpy; Kf;fpaj;Jtk; 

tha;e;jJ? 

A) ghlhthhp  B) Kh;uh 

C) nk\;uh  D) Rl;hp 

10. Ntjpapay; Kiwg;gb cUthd ghiw 

gbTfs; 

A) Rz;zhk;Gf;fy; B) fsp kz; 

C) [pg;rk;   D) fUq;fy; 

11. cyfpy; cs;s Nguhopfspd; ruhrhp Mok; 

A) 3890 kPl;lh;fs; B) 3700 kPl;lh;fs; 

C) 3899 kPl;lh;fs; D) 6000 kPl;lh;fs; 

12. jpl;lf;FO epWtpa Mz;L 

A) 1950 B) 1947    C) 1955   D) 1958 

13. ,k;gPhpay; tq;fp vd;W miof;fg;gl;l tq;fp 

vJ? 

A) ghuj ];Nll; tq;fp 

B) hprh;t; ghq;f; Mg; ,e;jpah 

C) ghq;f; Mg; ,e;jpah 

D) ,e;jpad; tq;fp 

14. uh[uhk; Nkhfd; uha; gw;wpa jtwh 

thrfj;ij Rl;bf; fhl;lTk;. 

A) 1831y; mtUf;F uh[h vd;w gl;lk; 

toq;fg;gl;lJ. 

B) rpiy topghl;bw;F vjpuhf tq;fhs 

nkhopapy; Jz;lwpf;if vOjpdhh; 
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C) Ntjj;Jf;F jpUk;Gq;fs; vd;gJ mtuJ 

thrfk; 

D) 1833y; gphp];lypy; ,we;jhh; 

15. fPNo nfhLf;fg;gl;Ls;sth;fSs; 'murpay; 

Kdpth;” vd;W mwpag;gl;lth; ahh;? 

A) W.C. ghdh;[p  

B) [];b]; uhdNl 

C) Nfhghy fpU\;z NfhfNy 

D) ghyfq;fhju jpyfh; 

16. “gphpl;b\; murpd; tPo;r;rpiaNa ehd; 

tpUk;GfpNwd;” vd;w Kof;fj;Jld; 

J}f;FNkilia jOtpath; ahh;? 

A) gfj;rpq;  B)yhyhy[;gp uha; 

C) Nuh\d;yhy;  D)uhk;gpurhj;gp];kpy; 

17. fPo;fhz;gth;fspy; uh[[papd; Ntjhuz;ak; 

ahj;jpiuapy; fye;J nfhz;L ifJ 

nra;ag;gl;L Xuhz;L fhyk; rpiw jz;lid 

tpjpf;fg;gl;l ngz; tpLjiyg; Nghuhsp ahh;? 

A) kUj;Jth; Kj;Jyl;Rkp 

B) jpUkjp. Uf;kzp yl;Rkpgjp 

C) jpUkjp. rNuh[pdp ehAL 

D) jpUkjp. md;dpngrz;l; 

18. fPo;fz;ltw;Ws; ve;j epwj;jpw;F 

fz;zhbapd; xsptpyfy; vd; FiwT 

A) rptg;G epwk;  B) kQ;rs; epwk; 

B) Cjh epwk;  D) gr;ir epwk; 

19. fPo;fz;ltw;Ws; Jizf; Nfhs; ,y;yh 

fpufk; vJ? 

A) tPd];   B) nrt;tha; 

C) tpahod;  D) ANud]; 

20. fPo;fz;ltw;Ws; vit xd;W ntg;gj;jhy; 

,sfh gygb MFk;. 

A) Ngf;iyl;  B) ieyhd; 6> 6 

C) ghyp vj;jpyPd; D) nlh;ypd; 

21. NlhNdhg;sh];l; vd;gJ …………. #o;e;j 

rt;thFk;. 

A) irl;Nlhgpshrk; B) Ntf;FNahy; 

C) ikl;Nlhfhz;l;hpah D) cl;fU 

22. பி஭ஞ்சு ஫கரிர் ஒற்லம஬ர் ஓபன் சடன்னிஸ் 

தபாட்டி஬ில் சபற்மி சபற்ம சஜலீனா அஷ்டா 

சபங்தகா எந்த நாட்லடச் தசர்த்தலர்?                  

A) ஸ்சப஬ின்    B)யட்டுலி஬ா                    

C) சஜர்஫னி                  D) இத்தாயி                 
23. jhtuq;fspy; Rthr epfo;tpd; thpirf; 

fpukkhhdJ 

A) fpnug; Row;rp> igUtpf; mkpy 

Mf;]p[Ndw;wk;> fpisf;fhyp]py;> vyf;l;uhd; 

flj;jy; rq;fpyp 

B) fpisf;fhyp]p];> igUtpf; mkpy 

Mf;]p[Ndw;wk;> vyf;l;uhd; flj;jy; rq;fpyp> 

fpnug; Row;rp 

C) fpisf;fhyp]p];> vyf;l;uhd; flj;jy; 

rq;fpyp> fpnug; Row;rp> igUtpf; mkpy 

Mf;]p[Ndw;wk; 

D) fpisf;fhyp]p];> igUtpf; mkpy 

Mf;]p[Ndw;wk;> fpnug; Row;rp> vyf;l;uhd; 

flj;jy; rq;fpyp 

24. ,uj;j nts;is mZf;fs; cUthf;fk; 

A) vhpj;Nuhghap]p];  

B) tpa+f;Nfhghap]p]; 

C) epAl;Nuhgpdpah 

D) JNuhk;Nghirl;Nlhgpdpah 

25. itlhy; Nrhjid> fPo;fz;l xU Nehia 

fz;lwpa gad;gLfpwJ 

A) kNyhpah  B) ilgha;L 

C) fhyuh   D) kQ;rs; [_uk; 

26. Njrpa fPjk; ghLtjw;F vLj;Jf; nfhs;s 

Ntz;ba Neuk; Rkhh; …….. tpehbfshFk;. 

A) 42 B) 52    C) 62 D) 64 

27. நலசேன஺ பதக்கம் எந்த துறம஬ினருக்கு 

லறங்கப்படுக஻மது                                                                              

A) லி஫஺னப்பறை  B) கைற்பறை                                 

C) ஭஺ணுலப்பறை  D) க஺லல்பறை  

28. ,sk; rpWth; ePjpr; rl;lk; uh[;a rghtpy; 

epiwNtw;wg;gl;lJ 

A)22 brk;gh; 2015 B)22 [dthp 2016 

C)26 etk;gh; 2015 D)5 [dthp 2016 

29. Fwpg;gpl;l fhy ,ilntspapy; epjp 

Mizaj;ij mikg;gjw;F mjpfhuk; ngw;w 

murpayikg;G mjpfhuikg;G vJ? 

A) nghJ fzf;F FO 

B) ,e;jpa ghuhSkd;wk; 

C) ,e;jpa FbauR jiyth; 



 

3  

 

D),e;jpa jiyik fzf;F jzpf;ifahsh; 

30. murpay; fl;rpfs; jq;fspd; fl;rp rpd;dk; 

njhlh;ghf Njh;jy; Mizaj;jplk; gjpT 

nra;J nfhs;s Ntz;L;k; vd;gJ njhlh;ghd 

“Njh;jy; rpd;d cj;jutpid” ve;j Mz;L 

Njh;jy; Mizak; gpwg;gpj;jJ? 

A) 1952 B) 1968   C) 1971  D) 1989 

31. Gjpa tptrha njhopy; El;gj;ij xU 

Kd;Ndhb jpl;lkhf eilKiwgLj;jpdh; 

kw;Wk; mtw;wpid vt;thW miog;gh;? 

A) xUq;fpize;j fpuhkg;Gw tsh;r;rp jpl;lk; 

B) xUq;fpize;j khtl;l tsh;r;rp jpl;lk; 

C) Mo;e;j tptrha tsh;r;rp jpl;lk; 

D) Mo;e;j tpthra khtl;l jpl;lk; 

32. ve;j jpl;lj;jpy; njhlh;e;J Kd;NdWtjw;fhd 

rhpahd Nehf;fj;ij eph;zapj;jd “tpiuthd 
tsh;r;rpia Nehf;fp kw;Wk; mjpf 

cs;slf;fpa tsh;r;rp” 
A) 10-tJ jpl;lk;  B) 9-tJ jpl;lk; 

C) 11-tJ jpl;lk;   D) 12-tJ jpl;lk; 

33. kj;jpa murpd; „uh\pl;hPa Mtp\;fhh; 

mgpahd;‟ khzth;fSf;F ve;j tif 

tpopg;Gepiyia cUthf;f ,yf;fpl;Ls;s 

jpl;lkhFk;? 

A) Gfo; rhd;w ,ir 

B) njhd;ik tuyhW 

C) mwptpay; kw;Wk; fiy 

D) mwptpay; kw;Wk; fzpjk; 

34. xU nrt;tf ePr;ry; njhl;bapd; ePsk;> 

mfyk; kw;Wk; Mok; KiwNa 60kP> 40 kP> 

1.5 kP. ,j;njhl;bf;F ily;]; gjpf;f> 50 

nr.kP gf;fk; nfhz;l rJu ily;]; vj;jid 

Njitg;gLk;? 

A) 10200   B) 10800 

C) 20400   D) 20800 

35. xU eghpd; jpdf;$ypia 15% caHj;jpajhy; 

mtH &. 23 ngw;whH vdpy;> 

caHj;jg;gLtjw;F Kd;G mtH thq;fpa 

jpdf; $yp vt;tsT? 

A) &.10   B) &.15 

C) &.20   D) &.30 

36. இந்த஻஬஺லின் முதல் சதே஻஬ ஆயுர்சலத 

த஻னம் எப்சப஺து கக஺ண்ை஺ைப்பட்ைது                                                     

A) அக்சை஺பர் 31  B) அக்சை஺பர் 28                           

C) அக்சை஺பர் 30  D) அக்சை஺பர் 25  

37. xU nghUspd; tpiy 30% $l;lg;gl;L gpd; 

30% ,wf;fg;gLfpwJ. ,Wjp tpiyia Muk;g 

tpiyAld; xg;gpLf. 

A) 9% FiwT  B) 0% 

C) 91% $Ljy;  D)91% FiwT 

38. #uj; khehl;bypUe;J jpUk;gpa gpd; t.c.rp 

ahUila tpLjiyia gpuk;khz;lhff; 

nfhz;lhl jPh;khdpj;jpUe;jhh;? 

A)ghyfq;fhju jpyfh; B)gpgpd; re;jpughy; 

C)yhyhy[;gj; uha; D)Rg;ukzpa ghujp 

39. rpg;Nfh ,af;fk; ,tw;iw ghJfhg;gjw;fhf 

njhlq;fg;gl;lJ 

A) rJg;G epyq;fs; B) Gy;ntspfs; 

C) fhLfs;  D) fhy;eil 

40. ,e;jpa murpdhy; Njrpa nts;sf; FO 

mikf;fg;gl;l Mz;L 

A) 1956 B) 1966  C) 1976 D) 1986 

41. xU nrt;tfj;jpd; ePsk; 3 nr.kP. msT 

mjpfhpf;fg;gl;L mfyk; 3 nr.kP. msT 

Fiwf;fg;gl;lhy; gug;gsthdJ 18 nr.kP2 

msT Fiwe;J tpLk;. ePsj;jpy; 1 nr.kP. 

msT Fiwf;fg;gl;L mfyj;jpy; 2 nr.kP. 

msT mjpfhpf;fg;gl;lhy; gug;gsthdJ 14 

nr.kP.2 msT mjpfhpj;J tpLk;. vdpy; 

mr;nrt;tfj;jpd; ePsk; kw;Wk; mfyk; 

KiwNa 

A) 13 nr.kP; 10 nr.kP. B) 14 nr.kP; 9 nr.kP. 

C) 12 nr.kP; 12 nr.kP. D) 15 nr.kP; 8 nr.kP. 

42. XH vz; kw;Wk; mjd; jiyfPopapd; 

$l;Lj;njhif 4 vdpy;> mt;ntz;zpd; 

Kk;kb kw;Wk; Kk;kbapd; jiyfPop 

Mfpatw;wpd; $l;Lj;njhif vt;tsT? 

A) 64 B) 52        C) 48 D) 24 

43. India – Bangladesh Friendship Bridge எந்த ஆற்ம஻ன் 

குறுக்சக கட்ைப்படுக஻ன்மது   

A) Feni   B) Honey  

C) Kaveri   D) Ganga  

44. xU NfhzKk; mjd; kpif epug;Gf; 

NfhzKk; 4:5 vd;w tpfpjj;jpy; ,Ug;gpd; 

mf;Nfhzk; vJ? 

A) 80°   B) 100° 
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C) 40°   D) 50° 

45. x
2
-2xy+y

2
 kw;Wk; x

4
-y

4 Mfpatw;wpd; kPg;ngU 

nghF tFj;jp (kP.ngh.t.) vJ? 

A) 1 B) x + y      C) x- y D) x
2
 – y

2 

46. xU ngd;rpypd; 8-,y; 1 ghfk; fUg;G 

epwkhfTk;> kPjpg; gFjpapy; ghjp nts;is 

epwkhfTk;> kPjKs;s gFjp 3
1

2
 nr.kP. ePy 

epwkhfTk; ,Ue;jhy;> ngd;rpypd; nkhj;j 

ePsk; vd;d? 

A) 9 nr.kP.;  B) 7 nr.kP. 

C) 8 nr.kP.;   D) 10 nr.kP. 

47.  xU vz;nza; bd; 
4

5
  ghfk; epiwe;jpUe;jJ. 

mjpypUe;J 6 Gl;bfs; vz;izia 

vLj;Jtpl;L> 4 Gl;bfs; vz;nzia Cw;Wk; 

nghOJ mJ 
3

4
 ghfk; epiwe;jpUe;jJ vdpy;> 

me;j bd;Dila KO nfhs;sstpw;F 

vj;jid Gl;bfs; vz;nza; NjitahfpwJ? 

A) 35   B) 40 

C) 42   D) 60 

48. 1>4>6>9>11>14>16 ----------------------- 16w;F gpwF 
tUtJ 
A) 19   B) 17 

C) 18   D) 16 
49. xU Mz; xU Ntiyia jdpahf 3 

ehl;fspy; Kbg;ghH. mNj Ntiyia xU 
ngz; jdpahf 9 ehl;fspy; Kbg;ghH. mNj 
Ntiyia ,UtUk; ,ize;J vj;jid 
ehl;fspy; Kbg;ghHfs;? 
A) 14/9 ehl;fs;  B) 6 ehl;fs; 
C) 2 ¼ ehl;fs;  D) 3 ½ ehl;fs; 

50. tiuglj;jpy; xNu msTil ntg;gepiyiaf; 

nfhz;bUf;Fk; ,lq;fis ,izf;Fk; 

fw;gid Nfhl;bd; ngah; vd;d? 

A) rkntg;gf; NfhL B)rk mOj;jf;NfhL 

C) g+kj;jpa Nuif D)kfu Nuiff;NfhL 

51. ………… nghUshjhu tsh;r;rpia 

eph;zapf;fpwJ. 

A) Vw;Wkjp  B) ,wf;Fkjp 

C) thzpgk; (m) th;j;jfk; 

D) Nghf;Ftuj;J 

52. cyfpy; kpfTk; mjpfkhd kf;fs; njhif 

mlh;j;jp nfhz;l ehL vJ? 

A) tq;fhsNjrk; B) nkhdhfNfh 

C) M];jpNuypah D) =yq;fh 

53. jPtpu Ntshz;ik vd;gJ 

I. Fiwe;j msT epyj;jpy; mjpf msT 

cw;gj;jp 

II. tz;ly; kz; cs;s gFjpapy; 

eilngWfpwJ 

III. FLk;g cWg;gpdh;fSf;F kl;Lk; 

cw;gj;jp 

IV. ,t;tif Ntshz;ik tzpfj;jpy; 

<LgLtJ ,y;iy 

A)I kl;Lk;     

B)III kw;Wk;IV ,uz;Lk; 

C)II kl;Lk;     

D)I kw;Wk; II ,uz;Lk; 

54. njd;dpe;jpa ey chpikf;fofk; vt;thW 

miof;fg;gl;lJ? 

A) [djh fl;rp  B) Rauh[;[pa fl;rp 

C) fhq;fpu]; fl;rp D) ePjpf; fl;rp 

55. பிப்஭லரி 2017 - ல் ஭஬ில்சல ப஺துக஺ப்பு 

கத஺ைர்ப஺க இந்த஻஬஺ ஒப்பந்தம் கேய்துள்ர 

ந஺டு  

A) ஜப்ப஺ன்  B) ஭ஷ்஬஺  

C) ே஼ன஺   D) இங்க஻ய஺ந்து  

56. Rauh[;a fl;rpapd; mikg;gpy; cWg;gpduhf 

,Ue;jth;fs; 

I) Nkhjpuhy; NeU.  II) rh;jhh; gNly;  

III) kfhj;kh fhe;jp  

A) I kw;Wk; II  B) I kl;Lk; 

C) II kw;Wk; III  D) I, II kw;Wk; III 

57. gpd;tUk; ehLfs; rkjh;kh nghUshjhu 

Kiwapidg; gpd;gw;Wfpd;wd 

A) rPdh> fpa+gh> tpal;hehk;> tlnfhhpah 

B) Mg;gphpf;fh> M];jpNuypah> mnkhpf;fh> 

gpNurpy; 

C) INuhg;gh> [g;ghd;> M];jpNuypah> rPdh 

D) =yq;fh> ghfp];jhd;> gq;fshNj\;> 

fpa+gh 

58. gpd;tUtdtw;Ws; vJ / vit rhpahf 

nghUe;jpAs;sJ 

gl;bay; I gl;bay; II 
I) Nehgy; ghpR - 1901 

II) Gypl;rh; ghpR - 1917 

III) kfNrNr 
tpUJ 

- 1958 
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IV) Gf;fh; ghpR  1968 

A) I, III kw;Wk; IV jtwhdJ 

B) III kl;Lk; rhp 

C) I, II kw;Wk; IV rhpahdJ 

D) I kl;Lk; rhp 

59. ஆர் எஸ் - 28 ஸர்஫த் என்ம கும஻஬டீ்டுப் 

கப஬ர் கக஺ண்ை ஏவுகறைற஬ தனது 

஭஺ணுலத்த஻ல் சேர்த்துக் கக஺ண்ை ந஺டு 

A) ே஼ன஺   B) ஭ஷ்஬஺  

C) இந்த஻஬஺  D) இங்க஻ய஺ந்து                                                      

60. ,e;jpa murpayikg;gpd; ve;j gFjpapy; 

muRf; nfhs;ifapid newpg;Lj;Jk; 

Nfhl;ghLfs; ,lk; ngw;Ws;sJ? 

A) gFjp  IV  B) gFjp III 

C) gFjp IV - A      D) gFjp V 

61. fPo;tUtdtw;iw nghUj;Jf 

a) Gjpa njhopw; nfhs;if 1. 
1978 

b) Njrpa jpl;lf; FO 2. 
1991 

c) xUq;fpize;j Cuf 
tsh;r;rp jpl;lk; 

3. 
1938 

d)42tJ rl;ljpUj;jk; 4. 
1976 

 a) b) c) d) 
A) 4 3 2 1 

B) 2 1 3 4 

C) 3 2 1 4 

D) 2 3 1 4 

62. gpd;tUtdtw;Ws; vJ / vit rhp 

I) Njrpa 
thf;fsh; jpdk; 

- [dthp 25 

II) cyf kf;fs; 
njhif ehs; 

- [_d; 11 

III) cyf 
ghuk;ghpa jpdk; 

- Nk 18 

IV) Njrpa 
njhopy; El;g 
jpdk; 

- Mf];l; 12 

A) II, III kw;Wk; I rhpahdJ 

B) I kl;Lk; rhp 

C) IV kl;Lk; jtW 

D) IV, I kw;Wk; II rhpahdJ 

63. cyf tzpf mikg;G (WTO) ve;j Mz;by; 

mikf;fg;gl;lJ? 

A) 1995   B) 1996 

C) 1997   D) 1998 

64. xU Fwpg;gpl;l njhifia 14 

igad;fspilNa gq;fpLk; nghOJ> mNj 

njhifia 18 Nghplk; rkkhfg; gq;fpLk; 

nghOJ fpilg;gij tpl xt;nthUtUk; &. 

80 mjpfk; ngWfpwhHfs;. njhif vd;d? 

A) Rs. 5>010  B)  Rs. 5,020 

C) Rs. 5,040  D) Rs. 5,000 

65. த஫஻ழ் பத்த஻ரிக்றக உயக஻ன் தந்றத                                        

A) ஜ஻.சுப்பி஭஫ைி அய்஬ர் 

B)  ந஺஭஺஬ை அய்஬ர்                                                         

C)  ஭஺஫ச஫஺கன்    

D) அக஻சயஷ்  

66. 3 vOJNfhy;fSk; 5 mopg;ghd;fSk; NrHe;J 

tpiy &. 34 NkYk; 2 vOJNfhy;fSk; 7 

mopg;ghd;fSk; NrHe;J tpiy &.30 vdpy; 

xU vOJNfhypd; tpiy vd;d? 

A) Rs. 8   B) Rs. 5         

C) Rs. 4        D) Rs. 2 

67. xU nrq;Nfhz Kf;Nfhzj;jpd; gf;fq;fs; 

(nr.kP) x-1, x, x+1 vdpy; mr;nrq;Nfhz 

Kf;Nfhzj;jpd; gug;gsT 

A) 12 r.nr.kP.;  B) 6 r.nr.kP. 

C) 20 r.nr.kP.;  D) 22 r.nr.kP. 

68.  fd nrt;tfg; ngl;b xd;wpd; mbg;gf;fk; 

rJukhfTk; mr;rJuj;jpd; gf;fk; a nr.kP. 

MfTk; ngl;bapd; cauk; b nr.kP. MfTk; 

,Ug;gpd; mjd; fd msT. 

A) a
2
b

2
 nr.kP.3  B) ab

2
 nr.kP.3 

C) a
2
b nr.kP.3  D) 

ܽ2ܾ2

3
 nr.kP.3 

69. fPo;f;fz;ltw;Ws; vit rkkhdit? 

A) 6400 km kw;Wk; 6.4 × 10
8
 cm 

B) 2 × 10
4
  cm kw;Wk; 2 × 10

6
 mm 

C) 800 m kw;Wk; 80 × 10
2
 mm  

D) 100 μm  kw;Wk; 1 mm 

70. ே஻னி஫஺த்துறம஬ில் இறைந்து கே஬ல்பை 

இந்த஻஬஺ எந்த ந஺ட்டுைன் புரிந்துைர்வு 

ஓப்பந்தம் கேய்துள்ரது  

A) ஜப்ப஺ன்  B) பின்ய஺ந்து 

C) உக்ச஭ன்              D) கைன்஫஺ர்க் 
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71. 
343 × 343 × 343 − 113 × 113 × 113

343 × 343 + 343 × 113 + 113 × 113
 d; kjpg;igf; 

fhz;. 

A) 230   B) 330 

C) 430   D) 530 

72. xU fpuhkj;jpd; kf;fs; njhif 50>000. 

mtHfspy; 40% Mz;fs;> 35% ngz;fs;> 

kPjk; cs;NshH Foe;ijfs;> vdpy; me;j 

fpuhkj;jpy; Foe;ijfspd; vz;zpf;ifiaf; 

fhz;f. 

A) 12>000   B) 12>500 

C) 17>500   D) 13>500 
73. 8 khkuq;fs; xNu NeHNfhl;by; cs;sJ. 

Xt;tnthU kuj;jpw;Fk; ,ilNaAs;s J}uk; 
3kP vdpy; KjyhtJ kw;Wk; vl;lhtJ 
kuj;jpw;F ,ilNaAs;s J}uk;? 
A) 24kP   B) 21kP 
C) 30kP   D) 27Kp 

74. இந்த஻஬஺லின் ISRO வும் எந்த ந஺ட்டின் 

லிண்கலரி ஆ஭஺ய்ச்ே஻ ற஫஬஫஺ன CNES ம் 

இறைந்து கே஬ற்றகசக஺ள் கேலுத்துலது 

கத஺ைர்ப஺ன ஒப்பந்தம் கேய்துள்ரது. 

A) அக஫ரிக்க஺                B)ப஺க்க஻ஸ்த஺ன்    

C) சப஺யந்து              D) பி஭஺ன்ஸ்  

75. Smoked Food Festival நறைகபம உள்ர இைம்  

A) அக஫த஺ப஺த்  B) மும்றப  

C) கைல்ய஻               D) சக஺ல஺  

76. jtwhfg; nghUj;jg;gl;Ls;sij ,dk; fhz;f 

A) rhiy Muha;r;rp - GJ jpy;yp 

B) Rw;Wr; #oy; - ehf;g+h; 

C) kUe;J - yf;Ndh 

D) rh;f;fiu  - i`jughj; 
77. xU Nfhl;ilapy; Ntiy ghHf;Fk; 300 

kdpjHfSf;F 90 ehl;fSf;F Njitahd 
czT nghUs; cs;sJ. 20 ehl;fSf;F 
gpwF 50 NgH nrd;Wtpl;ldH. kPjKs;s 
czT vj;jid ehl;fSf;F tUk;? 
A) 160 ehl;fs;  B) 210 ehl;fs; 
C) 84 ehl;fs;   D) 80 ehl;fs; 

78. RUf;Ff:   729
3 −  27

3

+  16
2

    512
3

+  343
3 −  256

4

 

A) 11/10   B) 10/11 

C) 9/10   D) 12/11 

79. Swachh Shakti Saptah லிற஻ப்புைர்வு முக஺ம் 

எந்த ஫஺ந஻யத்த஻ல் துலங்க஻ 
றலக்கப்பட்டுள்ரது  

A) பஞ்ே஺ப்   B) சக஭ர஺   

C) ஹரி஬஺ன஺   D) த஫஻ழ்ந஺டு  

80. xU njhif Mz;bw;F 8 rjtPjk; jdptl;b 
tPjj;jpy; mj;njhifiag;Nghy; ,U 
klq;fhfpwJ vdpy; vLj;Jf; nfhs;Sk; 
fhyk;. 
A) 13 ½ Mz;Lfs; B)  12 ½ Mz;Lfs; 
C) 10 ½ Mz;Lfs; D) 9 Mz;Lfs; 

81. xU miuNfhsj;jpd; tisgug;G 2772 nr.k P2 
vdpy; miuNfhsj;jpd; nkhj;j Gwg;gug;G 
ahJ? 
A) 4158 nr.kP2  B)  3172 nr.kP2 
C) 3882 nr.kP2  D) 4258 nr.kP2 

82. nfhLf;fg;gl;l Mq;fpy vOj;J njhlH 
thpiria epiwT nra;Ak; rhpahd 
tpiliaj;  NjHe;njLf;fTk;. 
___ABA ___ CABC ___DCBA ____ BAB 

___A 

A) ABDCA  B)  BCADC 

C) ABCDD
 

 D) CBDAA 

83. RUf;Ff: 
𝑥+3𝑋3−1

  ÷ 
3𝑥+9𝑋2+𝑥+1

   

A) 
1

3𝑋+1
   B) 3X+1 

C) 3X-3   D) 
1

3𝑋−3
 

84. uh[_ vd;gtH njw;F Nehf;fp elf;fj; 
njhlq;FfpwhH. 20kP J}uk; ele;j mtH 
tlf;F Nehf;fp jpUk;gp 8kP J}uk; elf;fpwhH. 
kWgbAk; fpof;F Nehf;fp jpUk;gp 5 kP J}uk; 
elf;fpwhH. vdpy;> Muk;g ,lj;jpypUe;J 
vt;tsT J}uk; ve;jj; jpirapy; mtH 
,Ug;ghH? 
A) 15kP> njw;F  B)17kP> tlNkw;F 
C) 7kP> fpof;F  D)13kP> njd;fpof;F 

85. 11 nr.kP> 12 nr.kP> 13 nr.kP ......... 24 nr.kP 
Mfpadtw;iw KiwNa gf;f msTfshff; 
nfhz;l 14 rJuq;fspd; nkhj;jg; gug;G 
fhz;f. 
A) 3515 nr.kP2  B) 4515 nr.kP2 
C) 2115 nr.kP2  D) 3215 nr.kP2 

86. khepyq;fsit cWg;gpdh;fis ahh; 

Njh;e;njLf;fpd;wdh;? 

A) Njh;T nra;ag;gl;l kf;fsit 
cWg;gpdh;fs; 

B) Njh;T nra;ag;gl;l khepy rl;lrig 
cWg;gpdh;fs; 
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C) Njh;T nra;ag;gl;l kf;fsit kw;Wk; 
khepyq;fsit cWg;gpdh;fs; 

D) Njh;T nra;ag;gl;l khepy Nky;rig 

(M.L.C) cWg;gpdh;fs; 

87. kPd; gpbj;jy; kw;Wk; Ruq;fq;fs; ve;j 
Jiwapd; fPo; tUfpwJ? 

A) jdpahh; Jiw  B) Kjd;ikj; Jiw 

C) gzpfs; Jiw  D) ,uz;lhk; Jiw 

88. [hypad; thyhghf; mike;Js;s ,lk; 

A) mkph;jru];  B) yh$h; 

C) Mf;uh   D) nly;yp 

89. gpuhkzh; my;yhjth;fSf;fhf “jpuhtpld; 
tpLjp” ia elj;jpath; ahh;? 
A) gpl;b jpahfuha nrl;b  

B) Dr. mk;Ngj;fhh; 

C) Dr. eNlr Kjypahh;  

D) Dr. T.M. ehah; 

90. உயகின் ப௃தல் 200 பல்கலயக்கறகங்கரில் 

இந்தி஬ாலியிருந்து இடம் சபற்றுள்ர 

பல்கலயக்கறகங்கள்  

A) IIT சடல்யி & IIT பாம்தப   

B) IIT சடல்யி & IIT க஭க்பூர்   

C) IIT பாம்தப & IIT  க஭க்பூர்   

D) IIT புதன & IIT சசன்லன 

91. t.c. rpjk;guk;gps;is gpwe;j ehs;  

A) nrg;lk;gh; 5, 1872 B) mf;Nlhgh; 5, 1872 

C) brk;gh; 5> 1873  D) nrg;lk;gh; 5, 1873 

92. nrd;id kfh[d rigapd; Kjy; jiyth; 

A) ntq;ifah ehAL  

B) G.T. ehAL 

C) uhkrhkp ehAL  

D) gp. ,uq;ifah ehAL 

93. fPo;tUgitfspy; vJ kj;jpa gl;baypy; 

NruhjJ? 

A) ntspAwT tptfhuq;fs;  

B) nghJ Rfhjhuk; 

C) fzf;fpay; kw;Wk; jzpf;if  

D) ghJfhg;G 

94. nry; gFg;gpd; NghJ ];gpd;by; ehh;fs; 

Njhd;Wtjpy; -------  Kf;fpag; gq;F 
tfpf;fpwJ. 

A) FNuhNkhNrhk;fs; B) gRq;fzpfq;fs; 

C) nrd;l;hpNahy;fs; D) iyNrhNrhk;fs; 

95. nghUj;Jf: 

1

.

nly;yp 
rNyh 

- ghyfq;fhju 
jpyfh; 

2

.

nra; 
my;yJ 
nrj;J kb 

- jahde;j 
ru];tjp 

3

.

Ntj 
fhyj;jpw;F 
jpUk;Gq;fs; 

- Nejh[p 

4

.

Rauh[;ak; 
vdJgpwg;Ghp
ik 

- fhe;jpIp 

A) 1234   B) 2134 

C) 3421   D) 3412 

96. tPhpak; kpf;f kNyhpahTf;fhd fhuzp vJ? 

A) gpsh];Nkhbak; itthf;]; 

B) gpsh];Nkhbak; kNyhpah 

C) gpsh];Nkhbak; ghy;rpghuk;  

D) gpsh];Nkhbak; XNty; 

97. nraw;if kio nghoptjw;fhf Nkfj;jpy; 

Jhtg;gLk; Ntjpg;nghUs; vJ? 

A) Nrhbak; i`buhf;irL  

B) Luhypak; 

C) CFC    

D) nghl;lhrpak; mNahilL 

98. kf;fs; njhif ntbg;Gf;F vJ Kf;fpa 
fhuzky;y vd;gijf; Fwpg;gpLf. 

A) mjpf gpwg;G tPjk;   

B) r%f gof;f tof;fq;fs; 

C) mjpf ,wg;G tPjk; 

D) Vo;ik 

99. கால்நலட இன பாதுகாலயர் லிருது சபற்ம 

த஫ிறர்கள் ஬ார் ?   

A) ஫ாலத஬ன் - சிலனாண்டி   

B) ஫ாலத஬ன் - சிலன்னதம்பிடி   

C) சிலனாண்டி - ஫ாடசா஫ி   

D) ஫ாடசா஫ி – சிலன்னதம்பிடி 

100. “,e;J tsh;r;rp tPjk;” vd;W ngahpl;lth; 
ahh;? 

A) ,yady; uhgpd;]; B) ,uh[; fpU~;zh 

C) kfhyNehgp];  D) ghh;guh Cl;ld; 
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Model Test 5 (General Studies) - TNPSC Group 2 (A)
1. The cost of pen is Rs.10 and the cost of pencil is 

Rs.3.50. Find the ratio of the cost of pencil and 

pen. 

A) 6: 20   B) 20:7 

C) 7: 20   D) 6:7 

2. In 2013, the population of a city is 1,25,000. 

After one year population increased by 7% then 

find out the population in 2014? 

A) 8,750   B) 1,33,750 

C) 1,16,250  D) 1,25,000 

3. If p(x) = 7x
3
 - 5x

2
 + 3x - 9, then what is the sum 

of p(- 1) and p(2). 

A) 33   B) -24 

C)-9    D) 9 

4. Which statement is correct? 

I. Wohler synthesized organic compound (urea) 

from an inorganic compound ammonium 

cyanate. 

II. Wohler synthesized inorganic compound 

(urea) from an organic compound ammonium 

cyanate. 

III. Wohler synthesized organic compound 

(urea) from an inorganic compound ammonium 

isocynate. 

A) I and III  B) II and III 

C) I and II   D) I only 

5. Consider the following statements: 

Assertion (A) :Team Indus, space craft will 

begin its mission to Mars in December 2017 

Reason (R) :A second experiment from the 

central university at Pandicherry has been 

chosen for the mission 

A) (A) is true but (R) is not correct explanation 

for (A) 

B) (A) is false but (R) is a correct explanation 

for (A) 

C) Both (A) and (R) are false 

D) (A) and (R) are true.  But (R) is not a correct 

explanation for (A) 

6. Trypanosomagambiense causes 

A) Kala-azar  

B) African Sleeping sickness 

C) Skin leishmaniasis 

D) Amoebic dysentery 

7. A small metal ball is suspended in a uniform 

electric field with the help of an insulated 

thread. If high energy X-ray beam falls on it;  

A) the ball will be deflected in the direction of 

field 

B) the ball will be deflected opposite to 

direction of field 

C) the ball will not deflect  

D) the ball will fly to infinity 

8. One Fermi is equal to 

A) 10
-15

 m   B) 10
-15

 cm 

C) 10
-12

 m   D) 10
-12

 cm 

9. An example of natural polymer 

A) Nylon   B) Rayon  

C) Cellulose  D)Orlon 

10. The most abundant element in the earth‟s crust 
is 

A) Silicon    B) Oxygen 

C) Magnesium   D) Aluminium 

11. The number of mitochondria increases in the 

cells of 

A) dormant seeds  B) germinating seeds 

C) dry seeds  D) dead seeds 

12. What is the net gain of ATP molecules in the 

glycolysis step of anaerobic respiration? 
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A) 1 ATP molecule B) 2 ATP molecules 

C) 3 ATP molecules D) 4 ATP molecules 

13. Piperazine citrate, is used to treat infection 

caused by 

A) Protozoans  B) Worms 

C) Bacteria  D) Dog bite  

14. Among the following factors, which 

combination is affect the origin and movement 

of ocean currents  

I. Coriolis force 

II. Earthquake and volcanic eruption 

III. Atmospheric pressure and insalution 

IV. Salinity and density of water 

A) I, II and III      B) II, III and IV 

C) I, II and IV  D) I, III and IV 

15. Name the app, which has been developed by 

Ludiana district administration for election 

commission in India? 

A) EC 1360  B) ECI 1370 

C) ECI 1380  D) ECI 1390 

16. Reserve Bank of India (RBI) has extended the 

period of enhanced PPI limit of Rs  20000 

as part of efforts to promote digital payments 

recently. What is full form of PPI?  

A) Post Payment Instruments 

B) Prepaid Payment Instruments 

C) Prepaid Permanent Instruments 

D) Prepaid Payment International 

17. Who has emerged as the India‟s sports  person 

of the year 2016 in a poll conducted  by 

India? 

A) MS Dhoni  B) Virat Kohli 

C) PV Sindhu  D) Dipa Karmakar 

18. Who has been appointed as the new chairman of 

the UPSC? 

A) SR Hashim  B) Deepak Gupta 

C) Alka Sirohi  D) David Syiemlieh 

19. The first smart police station has been launched 

in which of the following state? 

A) Andhra Pradesh B) Telegana 

C) Gujarat   D) Maharashtra 

20. Who introduced the concept of hot spot in 

biodiversity? 

A) Christopher Columbus 

B) Norman Myers 

C) WWF     

D) Charles Darwin 

21. Which one of the given hormone is secreted by 

the neurohypophyses?  

A) Vasopressin  B) Prolactin  

C) Calcitonin  D) Aldosterone 

22. Which of the following soil is developed under 

the tropical monsoon climate? 

A) Laterite soil   B) Regur soil 

C) Red soil  D) Alluvial soil 

23. The ratio of boys and girls in a school is 7 : 4, If 

the number of boys is 2800, the total number of 

students in the school is 

A) 3000   B) 3400 

C) 4000   D) 4400 

24. A‟s new salary after 15% increase is Rs: 1932. 

What is the old salary? 

A) 1600   B) 1680 

C) 1700   D) 1660 

25. The average of 5 nos. is 120. Later it was found 

that instead of entering correct value 15, data is 

wrongly entered as 5. Find the new correct 

average 

A) 120   B) 12 

C) 126   D) 122 

26. If 20 men can build a wall 112 meters long in 6 

days, what length of a similar wall can be built 

by 25 men in 3 days? 

A) 56 meters  B) 70 meters 

C) 45 meters  D) 60 meters 

27. The mode of the observations 

2, 3, 7, 8, 4, 2, 4, 3, 9, 2, 7, 4 is 

A) 2   B) 2,4 

C) 4   D) 7 

28. A wheel makes 48 revolutions in 3 seconds. 

How many revolutions does it make in 30 

seconds? 

A) 400   B)420 

C) 440   D) 480  

29. The LCM of 1
1

4
, 1

2

3
, 2

1

2
 is  

A) 2   B) 3 

C) 4   D) 5 
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30. If A is older than B, C is older than B but 

younger than A. D is younger than E and B. B is 

older than E. Then identify who is youngest? 

A) A   B) B 

C) C   D) D 

31. SakravarthiThirumagan was written by whom? 

A) Barathiyar   

B) C. Raja Gopalachari 

C) Subramaniya Siva 

D) RamalingaAdigal 

32. The Aligarh movement was started by 

A) A.O. Hume   

B) Sir Syed Ahmedkhan 

C) BalGangadharTilak 

D) Jawaharlal Nehru 

33. According to Union Labour Minister 

BandaruDattatreya „the humble gift to women‟ 
is 

A) Women has Right to Parental Property Act 

B) Harassment in work places (Prevention) Act 

C) Domestic Violence (Prevention) Act 

D) Maternity Benefit Amendment) Bill 

34. The LPG model of development was introduced 

in  ______by the Finance Minister _______ 

A) 1991, Dr.Manmohan Singh 

B) 1995, Shri. PranabMuharji 

C) 2000, Shri. P. Chidambaram 

D) 2010, Shri. YaswantSinga 

35. Indian Constitution established parliamentary 

form of Government on the model of 

A) Swiss model 

B) Canadian model 

C) American model 

D) British (West minister) model 

36. Former Governor of _______, Girish Chandra 

Saxena, passed away recently. 

A) Bihar   B) Maharashtra 

C) Tamilnadu  D)Jammu&Kashmir 

37. Name the country which has signed an 

agreement recently with India for collaboration 

in modification of Indian  Railways for high 

speed and semi high  speed Rail? 

A) USA   B) Japan 

C) China   D) France 

38. In the recently released the second forbes “30 
under 30” Asia list 2017 name the Olympic 

medalist who made it into the list  in 

“Pioneer Women” category? 

A) Deepa Karmakar B) P.V. Sindhu 

C) Saina Nehwal  D) Sakshi Malik  

39. “Sagar matha friendship 2017” is first  ever 

joint military exercise between  which two 

countries? 

A) China and Bangaladesh  

B) Bangaladesh and Nepal 

C) India and Srilanka  

D) China and Nepal 

40. Which of the following IIT (Indian Institute of 

Technology) will introduce Vastu Shastra 

classes for its architecture students? 

A) IIT, Kharagpur B) IIT, Kanpur 

C) IIT, Chennai  D) IIT, Ahmedabad 

41. In which schedule of the Constitution the 

recognised 22 languages has been included? 

A) 6th Schedule  B) 7th Schedule 

C) 8th Schedule  D) 9th Schedule 

42. Which of the following is not included in the 

state list in the Constitution of India? 

A) Police    

B) Public order 

C) Prisons 

D) Criminal procedure code 

43. The idea that Indians should have a 

constituent assembly to frame a Constitution of 

India was initiated by 

A) Rajendra Prasad B) M.N. Roy 

C) Jawaharlal Nehru D)B.R. Ambedkar 

44. Which one of the following statement relating to 

Executive Magistrate is notcorrect? 

A) Executive Magistrates are appointed by the 

state in consultation with High court 

B) Executive Magistrates are subordinate to the 

District Magistrate 

C) Order made by an Executive Magistrate is 

not subject to revisional jurisdiction of High 

court 

D) Executive Magistrates are quasi-judicial 

45. Chairman of the First National Backward Class 

Commission was  
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A) Kaka Kalelkar  

B) Yugandhar 

C) JohnMathai   

D) MadhuDandavate 

46. Find the missing number in the following? 

5, 22, 68, 153, 287,-? 

A) 385   B) 480 

C) 530   D) 450 

47. A rectangular hall 39 m 10 cm long and 35 m 70 

cm broad is to be paved with square tiles. Find 

the largest tile which will exactly fit and the 

number required. 

A) 480   B) 485 

C) 490   D) 483 

48. If a
2
 +b

2
 = 45 and ab = 18 find 

1

a
 + 

1

b
 

A) ±
1

2
   B) ±

1

3
 

C)±
1

4
   D) ±1 

49. The population of a village has a constant 

growth of 6.25% every year. If its present 

population is 82,536 what was the population 

two years ago? 

A) 77,681   B) 75,534 

C) 73,111   D)76,742 

50. A sum of money lent out at simple interest 

amounts to rs. 720 after 2 years and to rs.  1020 

after a further period of 5 years. Find the interest 

rate % 

A) 8%   B) 9% 

C) 10%   D) 11% 

51. Where was First Tamil Printing Press 

established in Tamil Nadu? 

A) Madurai  B) Chennai 

C) Erode   D) Tarangambadi 

52. Who is called Martin Luther of Hinduism? 

A) Swami DayanandhaSaraswathi 

B) Swami Vivekananda 

C) Ramakrishna Paramahamsa 

D) Rajaram Mohan Roy 

53. The Newspaper “New India” was started by 

A) Gandhiji  B) Bharathiar 

C) Annie Besant  D) Gokhale 

54. Match List I with List II and select your answers 

using the codes below 

List I List II 

(a) Madan Mohan 

Malavia 

1. Azad Hind Fauz 

(b) A. O. Hume 2. Home Rule 

Movement 

(c) Annie Besant 3. Banaras Hindu 

University 

(d) Subash 

Chandra Bose  

4. Indian National 

Congress 

 (a) (b) (c) (d) 

A) 3 2 4 1 

B) 3 4 2 1 

C) 2 3 1 4 

D) 2 1 4 3 

55. Which is not correctly matched? 

A) Rahmat Ali  -  Pakistan  

B) VinobaBhave - Second Individual  

    Satyagrahi 

C) Linlithgow -  August Offer 

D) Rajaji   - KulakalviThittam 

56. Ramsay Macdonald, the British Prime Minister 

announced the communal award on  

A) 16th August, 1932   

B) 20th September, 1932 

C) 17th November, 1932 

D) 16th August, 1946 

57. Choose the incorrect pair from the following : 

A) SarvajanikSabha - M.G. Ranade 

B) Indian National Congress - A.O. Hume  

C) London Indian Association - 

DadabaiNaoroji 

D)Madras Native Association - Surendranath 

Banerjee 

58. Which of the following value is maximum? 

A) 
0.8

8
   B) 

8

0.8
 

C) (0.8)
2
   D) 0.8π 

59. Usha borrowed Rs. 20,000 from Uma for 2 

years at 7
1

2
% per annum. At the end of the 

second year, what amount Usha paid to Uma if 

the interest is compounded annually? 

A) Rs. 23,000  B) Rs. 3,112.50  
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C) Rs. 23,112.50  D) Rs. 25,000 

60. If the vertices of a parallelogram taken in order 

are respectively (7, -3),(5, 4),(1, 5) and (p, - 2) 

then value of p is 

A) 11   B)12 

C) 7   D) 3 

61. Which of the following is/are become possible 

for lengths of three sides of a triangle? 

(1) 9 cm, 4 cm, 4 cm 

(2) 13 cm, 14 cm, 25 cm 

(3) 5 cm, 3 cm, 3 cm 

(4) 8 cm, 4 cm, 3 cm 

A) (2), (3)   B) (1), (2), (3) 

C) (2) only  D) (1), (3) 

62. Petroleum and Natural Gas Regulatory Board 

(PNGRB) Act came into force in the year 

A) 2003   B) 2004 

C) 2005   D) 2006 

63. Curved surface area of the cone is 

A) 
1

3
πr

2
h   B) πr (l+ r) 

C) πr
2
   D) πrl 

64. Rani walks 20 m towards South. Then she turns 

left and walks 40 m. Then turning to right he 

walks 30 m. Again turning to his right he walks 

40 m. Find the shortest distance between the 

starting and the end point. 

A) 40 metre  B) 50 metre 

C) 60 metre  D) 30 metre 

65. A solid right circular cylinder has radius 14 cm 

and height 30 cm. Its curved surface area is 

A) 2240 cm
2
  B) 2260 cm

2 

C) 2460 cm
2  

D) 2640 cm
2 

66. Find the cost of fencing a square park of side 

250 m at the rate of Rs. 20 per meter. 

A) Rs. 10,000  B) Rs. 5,000 

C) Rs. 15,000  D) Rs. 20,000 

67. Capital of Myanmar ___________ 

A) Harare   B) Burma 

C) Naypyidaw   D) Nicosia 

68. Which of the following in association with 

Kochi Metro Rail Corporation (KMRC) has 

launched India‟s first open loop EMV 
contactless metro card? 

A) Axis Bank  B) ICICI Bank 

C) Yes Bank  D) Federal Bank 

69. It was the _________ edition of the femina  

Miss World  

A) 54
th

        B) 34
th

  

C) 45
th

          D) 55
th

 

70. Who is the union minister of civil aviation? 

A) Ravi Shankar Parsad  

B) Birender Singh 

C) Asok Gajapati Raju  

D) Jual Oram 

71. The civil and aviation Ministry has recently 

cleared the proposal for setting up new  airport 

in _______ 

A) Chandigarh  B) Noida 

C) Greater Noida  D) Meerut 

72. Bordeaux mixture is 

A) CuSO4 + Ca(OH)2 B) CuSO4 + CaCl2 

C) ZnSO4 + Ca(OH)2 D) ZnSO4 + CaCl2 

73. The salary and allowances of the public 

prosecutors are given by  

A) High court or Supreme court 

B) Central Government or State Governments 

C) District courts 

D) Magistrate courts 

74. According to the 74th Constitution Amendment 

Act, "Metropolitan area” means 

A) An area having a population of 10 lakhs or 

more 

B) An area having a population of 5 lakhs 

C) An area haying a population below 5 lakhs 

 D) An area having a population below 3 lakhs 

75. Which one of the following is an indirect tax? 

A) Income tax  B) Service tax 

C) Corporation tax D) Interest tax 

76. The minimum support prices are a means of 

supporting the  

A) farmers  B) consumers 

C) industries  D) retailers 

77. The GATT was biased in favour of the 

developed countries and was called informally  

A) Rich men‟s club  

B) League of nation 

C) WTO      

D) Axis nation 



6  

 

78. Article 132 of the Indian Constitution deals with 

A) The appellate jurisdiction of the Supreme 

Court in constitutional cases 

B) The appellate jurisdiction of the Supreme 

Court from High Court in civil cases 

C) Criminal appeals from High Courts to 

Supreme Court 

D) Special leave to appeal by Supreme Court 

79. Which one of the following statement is riot 

correct about public interest litigation? 

A) Public interest litigation may be transferred 

to appropriate High court. 

B) A petition in public interest litigation filed 

before the Supreme court may not be transferred 

to an appropriate High court 

C) The letter in public interest litigation should 

be addressed to the court and not to anindividual 

Judge  

D) Public interest litigation is under the preview 

of High court 

80. In our constitution, the provision relating to the 

suspension of fundamental rights during the 

emergency provisions has been taken from 

which country? 

A) England  B) France 

C) USA    D)Germany 

81. The 7th World Ayurvedha Congress was held at 

A) Delhi   B) Bhopal 

C) Kolkatta  D) Bengaluru 

82. The author of the book “TAMIL NADU : 
The Land of Vedas” is 

A) R. Nagaswamy    

B) R. Knshnamoorthy 

C) R. Nagarajan     

D) R. Naganathan 

83. Which country does the present UN Secretary 

General, Antonio Guterres belong to? 

A) Sweden   B) Portugal 

C) Norway   D) Denmark 

84. Match List-I with List II and select the correct 

answer using the codes given below: 

List I – planets   List II - Revolution 

Period 

(a) Mars   1. 88. days 

(b) Earth   2. 225 days 

(c) Mercury  3. 687 days 

(d) Venus   4. 365 days 

 (a) (b) (c) (d)  

A) 3 4 2 1  

B)  3 4 1 2  

C) 2 4 3 1  

D) 2 4 1 3  

85. The term „seismic gap‟ refers to 

A) A region   

B) A period 

C) A disaster   

D) Seismic prediction 

86. In an open economy, GDP is the sum of 

A) Consumption, gross investment, government 

spending and net exports 

B) Consumption, net investment, government 

spending and net export 

C) Consumption, gross investment, government 

spending and gross exports 

D) Wages, rent, interest, profit and depreciation 

87. In which year the widow remarriage was legally 

permitted? 

A) 1855   B) 1856  

C) 1857   D) 1858 

88. Consider the following pairs 

I. Wood‟s Despatch  - 1854 

II. Hunter Commission  - 1882 

III. University Act  - 1880 

IV. Wardhaw Scheme of Education - 1904 

Which of the pairs given above is/are correct? 

A) I and IV only  B) II only 

C) I and II  D) II and III 

89. Which of the following is incorrectly paired? 

i) Indian Mirror     - D.N. Tagore 

ii) Vande Mataram - Madam Cama 

iii) Tribune  - D.S. Majeeta 

iv) Bombay Herald - J.A. Hickey 

A) (i) is correct 

B) (ii) are correct 

C) (ii) and (iii) are correct 

D) alone is correct 
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90. Setting up of Village Panchayats is associated 

with which part of the Indian Constitution? 

A) Preamble    

B) Fundamental Rights 

C) Directive principles of State Policy  

D) Fundamental Duties 

91. The botanical name of SeemaiKaruvel is  

A) ProsopisJuliflora  

B) ProsopisGlandulosa 

C) Prosopis Cineraria 

D) ProsepiePallida 

92. Which factor is responsible for the generation of 

black money  

A) Participatory rate 

B) Simplification of tax procedure 

C) Low rate of taxes 

D) Incentives for tax compliance 

93. Indian capital market is regulated by 

A) Reserve Bank of India 

B) NITI-AYOG 

C) Finance ministry 

D) Securities and Exchange Board of India - 

SEBI 

94. Under which tax one nation, one uniform tax is 

ensured 

A) VAT   B) CST  

C) GST   D) Sales tax 

95. Which organization to countries dominates in 

the international oil trade 

A) European union B) OPEC 

C) ASEAN  D) NAFTA 

96. India‟s second five year plan was based on the 
model advocated by 

A) Harrod-Domar  

B) Vakkil and Brahmananda 

C) J.C. Kumarappa  

D) P.C.Mahalanobis 

97. Sex-ratio means 

A) the relationship between male and female 

B) the ratio between adult-male and adult 

female in a population 

C) the ratio between female and male in a 

population 

D) the number of females per thousand males 

98. Which one of the following is not correctly 

matched in terms of plan outlay to industries? 

A) First Five Year Plan - 5% 

B) Second Five Year Plan - 18% 

C) Third Five Year Plan - 23% 

D) Fourth Five Year Plan - 19.7% 

99. Pressure cookers are based on the principle that 

I. The boiling point of liquid increases with 

increase in pressure 

II. The boiling point of liquid decreases with 

increase in pressure 

III. The boiling point is constant 

Which one of the above is correct principle? 

A) I only   

B) II only 

C) III only   

D) I,II and III are wrong 

100. The Indian Coast Guard (ICG) raising day is 

celebrated on which date? 

A) Feb 4        B) Feb 1     

C) Feb 3         D) Feb 6 
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1 C 21 A 41 A 61 A 81 C 

2 B 22 A 42 D 62 D 82 A 

3 D 23 D 43 B 63 D 83 B 

4 D 24 B 44 C 64 B 84 B 

5 C 25 D 45 A 65 D 85 A 

6 B 26 B 46 B 66 D 86 A 

7 A 27 B 47 D 67 C 87 B 

8 A 28 D 48 A 68 A 88 C 

9 C 29 D 49 C 69 A 89 D 

10 B 30 D 50 C 70 C 90 C 

11 B 31 B 51 D 71 C 91 A 

12 B 32 B 52 A 72 A 92 A 

13 B 33 D 53 C 73 B 93 D 

14 D 34 A 54 B 74 A 94 C 

15 A 35 D 55 B 75 B 95 B 

16 B 36 D 56 A 76 A 96 D 

17 B 37 D 57 D 77 A 97 D 

18 D 38 D 58 B 78 A 98 B 

19 A 39 D 59 C 79 B 99 A 

20 B 40 C 60 D 80 D 100 B 
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